ULK*
JSKIM2
JSG
JSC31SC4

UFCD
uUsc
JSB3
LMB
LML

Product MAP with brake function

1) Cylinder with position locking and brake

Structure/Operational principle Driving cylinder

Swash plate

ol | Functon |

@ Brake operating principle

When air is discharged from port A, the

ULKP Al late ®= 1ae plates A and B filt to the arrow SCP™2 Cylinder with brake. It
direction from the fulcrum. This boosts the 16 can.be stoppgd or held
% brake force by generating cylinder thrust, statlon.ary during
........ N enabling retention of the piston rod. J operation.
JSG saves more space
Fulcrum When air is supplied from port A, the in the brake area when
@ Brake release principle brake plates A and B are pushed by the CMK2 compared to the
ULK o release piston. The brake plates Aand B 020 to 40 |conventional JSC3
= t@ become perpendicular to the piston rod, Series. The ULK also
EE and the piston rod becomes free to move. saves more space by
) - ducing the brake
With brake o Rod clamping CMK2 ::eight compared to the
ISk (f:)‘;‘:a‘::s)” @ Srake release princple Air supplied from port Apushes | 92010 ¢40  |conventional JSK2
........ Port A Piston the piston underitand opensthe| _______________|Series.
— lever. The eccentric rings directly
JSM2 . ) connected to the lever rotate and CMA2 icati
e || 7 . @20 to 40  |[Applications]
=+ % 2 Piston release the piston rod. (1) When multipoint
=5 spring SCG positioning is required
JSG T 040 to 9100 | (2) When position
@ Brake operating principle If air is discharged from port A, locking is required
the eccentric rings rotate with SCA2 (3) When emergency
the spring force, generating an stop is required
JSc3 eccentric load to brake the ¢40 to 9100 (4) When locking a
) piston rod. workpiece
JSC4 SCS2
9125 to 180
Round slit method Cylinder with position locking
Port A New long life position locking mechanism (for holding cylinder
%% mechanism is used. Applying stationary).
torque M to the lock metal 2 lock direction
2 T . .
] generates axial force F. This SsD
USSD 'ﬁ gﬁ ad force holds the rod. 025 10 ¢100 '
Free position @ l , i
(Retalizcgzgonary Lock metal B Opposite locking direction is free
state) 5 O
\: FCD
UFCD R ] ‘.‘ ¢25 to @63 j:
~.
Y
View A View B SCA2
usc Rod contact surface 40 to ¢p100  |[Application]
When locked When unlocked ¢40 10 ¢

When position locking is required

2) Braking unit

Brake Rod size A module of the brake mechanism of JSC3 Series.

JSB3 (Stop when 16 to 045 Able to stop the movable rod immediately and lock it firmly, it can be used
operating) ¢ ¢ in safety mechanisms and clamping mechanisms of many kinds of devices.
THK Alock unit installed in a linear guide.
LMB -
. Rail width: 15/20/25 When used with a system incorporating a linear guide, this lock unit can

Iockreyd THK, be used to lock a workpiece after moving it to a specified position, or to

LML IKO enable emergency stop for safety, etc.

Rail width: 15/20/25/30/35

LMB is narrower than LML, and LML is lower-profile than LMB.

660

CKD



JSK2/JSM2

JJ With brake/position locking Brake cylinder (small bore size)

Overview

A reliable brake is integrated to
the medium bore size (920 to
@40 mm) standard cylinder
(CMA2/CMK?2) series.

Features

[JSK2]
Swaging with stainless
steel tube.
Aluminum cover is used
to reduce weight.

[JSMZ2]
Robust design enduring
severe use conditions.
The cover screw-in model
is easy to assemble/
disassemble.

@20/¢p25/¢p30/932/p40

CONTENTS

Series variation 692
Product introduction 692
Variation and option combination selection table 694
@SKZ (swaging) )
@ Double acting/single rod (JSK2) 696
@ Double acting with valve (JSK2-V) 696
@SMZ (disassembly) )
@ Double acting/single rod (JSM2) 710
@ Double acting with valve (JSM2-V) 710
JSK2/JSM2 Series common accessory dimensions 721
Brake cylinder common technical data 826
Brake cylinder common applications 827
A Safety precautions 722

ULK*
| JSKiM2_
JSG
SC3USCH
ussD
UFCD
usc
JSB3
LMB
LML

691



Ser_ies_ Brake cylinder
variation JSK2/JSM2 Series

LCW
LCR

LCG

LCX

LCM

ST™

STG

STSISTL

STR2

UCA2

ULK*

~| =
JSG € E
. JSC3USCA | Variation Model No. Bore size Standard stroke length (mm) ElS
ussD £|=s
UFCD | 2
usc ol
7&833 JIS symbol (mm) % %
LML s
HCM c| %
_HGA_ 25|50 | 75 (100 125|150 175 | 200 [ 250 | 300 | S | =
CAC4 . JSK2

~—caco | Swaging model/

UoKC? i M EEIE $20/925/932/p40| @ | @ | @ | @ | @ | @ |® | @ | @ | @ | 5 |700
 nicr |swaging modelidouble|JSK2-V

RCC?2 waging modael/aoubie -

o [ 920/925/932/p40| ® (@ | @ | @ | @ | @ | @ | @ | @ | @ | 5|70
PCC

“sic | pi JSM2
- © | Disassembly/ EE[%L $20/930/040 (@ (@ (@ (@ | @@ |@® @ @ @ 1|70
—Gic | double acting

% Disassembly/double|JSM2-V

~wre | acting with valve ¢20/930/940 | ©® 1 © | © © © & & O & O 1 |70

GRC
RV3*
NHS
HR
LN

Hand
Chuk @ Stopping accuracy 1.0 mm or less

MecHnd/Chuk Cylinder speed 300 mm/s with no load
ShkAbs
TR @ Enhanced safety
FK The rod will immediately be locked with a
SpdContr @ Air cylinder holding force equivalent to thrust at 0.49
Ending @ Brake section No-lubrication air MPa even if the air pressure source and
cylinder power are OFF.
CMK2 is adopted.

Product introduction JEK{ &3}

@ Brake shoe metal
FCD cast iron material used.
Excellent durability and soft
. . . . braking force. @ Piston magnet
This unique braklng mechanism The plastic magnet parts attached as
ensures h|gh Stopping accuracy standard allow easy modification to
cylinder with switch.
and sufficient holding force.

Enhanced safety.

692 CKD




@: Standard O: Option

J S K2/J S M2 Series

Series variation

LCW
LCR
LCG
LCX
LCM

: Not available stv

STG

Custom stroke length (per mm)

Mounting

Option

Accessory

Basic

Axial foot

Rod side trunnion

Head side trunnion

Clevis bracket

—
(v9)

8 Eye bracket integrated

¥ |Rod side flange
Q Eye bracket

—
>

—
o3}

< |Bellows (100°C)

— | Bellows (250°C)

< | Piston rod material change

U | Same port position

< |Boss cutoff

C | Brake section with cover*1

— |Rod eye

< |Rod clevis

o
N

Switch

Page

STS/STL
STR2
UCA2
ULK*
JSG
JSC3USC4
uUSSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC

—_

(@)

(©)

©

(©)

(@)

©)

(@)

@)

696

CAC4
UCAC2
CAC-N

696

UCAC-N
RCC2

RCS
PCC

710

SHC
MCP
GLC

©

©)

@)

©

©

©)

©)

©

©)

710

MFC
BBS
RRC
GRC

*1: For a TA mounting, the brake section with cover “U” cannot be selected.

CKD

RV3*
NHS
HR
LN
Hand
Chuk
MecHnd/Chuk
ShkAbs
FJ
FK
SpdContr

Ending

693



J S K2 Series

% Variation and option combination selection table
LCR

LCG
LCX
LCM
STM
STG
STSISTL
STR2
UCA2
ULK*
JSG
JSC31USC4
USSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HR
LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ

FK
SpdContr

Ending
[Example of model No.]

‘Pﬁ?j???

: Standard

: Option

: Available (custom order product)

: Available depending on conditions (Contact CKD.)
: Not available

XxXPOO®

‘ Port

on thread

§ Double acting basic
< |With valve
O|O| z|NPT

X|O|O|®|G
O|O|O|O| < |Polyolefin with bellows

X|1O|O|O|O | r |Silicone rubber with bellows
O|O|O0O|O|O|O| =Z |Piston rod material stainless steel

OlO|0O|O|O|O]O| Z |Specify piston rod end form

O|0|0|0|O|O|0O|0O]| < |Boss cutoff
O|0|0|0|0|O]|O|0O|O|c |Brake section with cover

Code
Double acting basic Blank
With valve V
NPT

G

Polyolefin with bellows

=
(=3
=
o
s
=>
=1
<
3
=
=
=
S
o

Silicone rubber with bellows

Piston rod material stainless steel

Specify piston rod end form

<|Z|IZ|r|«|®|Z2

Boss cutoff

Brake section with cover U

Cylinder switch Listed separately

Rod eye I
Rod clevis Y
B2 bracket B2

Accessory

0|0|0|0O
00|00
0|0|0|0O
00|00
0|0|0]|0O
O|0|0]0
0|0|0]|0O
0|0|0|0O

Model No. O Mounting @ stroke len @ Switch @ Option

model
[Variation] ®sBore @ Valve @©switch @) Accessory
* List in order from size voltage quantity * List in order from
) @ Port I
left to right left to right in the
) thread
in the above table. above table.

Model No.: Brake cylinder

@ Variation : With valve
O Mounting : Axial foot
®Bore size : @20 mm
@ Port thread : Re thread

@ Stroke length ~ : 50 mm

@ Valve voltage  : 100 VAC

@ Switch model No. : Reed TOH switch, lead wire 1m

@ Switch quantity : 2

@Option : Bellows max. ambient temperature 100°C
@ Accessory : Rod eye

694 CKD



MEM©O

LCW
LCR
LCG
LCX
LCM
STM
STG
STS/STL
STR2
[UCA2__
ULK*
JSG
JSC31USC4
USSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HR
LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ
FK
SpdContr

Ending

CKD 695



Brake cylinder Small bore size/swaging
Double acting/double acting with valve

JSK2/JSK2-V series

LCW
LCR
% @ Bore size: ¢20/925/932/940
LCM JIS symbol @ Double acting
STM @ CAD
STG
STSISTL
_STR2 | e un
ucaz | Specifications
s
JSG Bore size mm ®20 925 ®32 @40 920 925 ®32 ®40
JSC3/ISC4 | Actuation Double acting Double acting/with valve
% Working fluid Compressed air
~usc | Max. working pressure  MPa 1.0 (=150 psi, 10 bar) 0.6 (=87 psi, 6 bar)
JSB3 | Min. working pressure MPa 0.35 (=51 psi, 3.5 bar) 0.35 (=51 psi, 3.5 bar)
LMB | Proof pressure  MPa 1.6 (=230 psi, 16 bar)
% Ambient temperature °C -10 (14°F) to 60 (140°F) (no freezing) -10 (14°F) to 50 (122°F) (no freezing)
~HoA | _|Brake section| M5 | Rc1/8 M5 | Rc1/8
=" | Portsize -
LBC Cylinder port Rc1/8 Rc1/8
%Acé Stroke tolerance  mm *20( t0 200),"24(200 to )
T CACN | Working piston speed mm/s 50 to 500
UCAC-N | Cushion Rubber cushion
RCC2 | Lubrication Not required (use turbine oil class 1 1SO VG32 if necessary for lubrication)
% Stopping accuracy mm +1.0 (300 mm/s, no load)
" sHc | Holding force N 186 431 431 765 186 431 431 765
MCP | Allowable absorbed energy J| 0.166 0.308 0.424 0.639 0.166 0.308 0.424 0.639
GLC
__MFC_|
_ BBS | . e
rrc | Electrical specification for brake valve
__GRC_| JSK2-V-VALVE-KIT-
%H?; Rated voltage (V) 100 AC(50/60 Hz) 200 AC(50/60 Hz) 24 DC
HR Starting current (A) 0.056/0.044 0.034/0.026 0.075
LN Holding current (A) 0.028/0.022 0.017/0.013 '
% Power consumption (W) 1.8/1.4 2.11.6 1.8
u
" aricn | Voltage fluctuation range +10%
ShkAbs | Thermal class Class B molded coil
FJ @*1 : 100/200 VAC coil is available for 110/220 VAC (60 Hz).
FK @2 : Refer to “Pneumatic Valves (CB-23SA)” for details on valves (P5136 Series).
SpdContr
Ending
Stroke length
e () Standard stroke |Max. stroke length (mm){Min. stroke length (mm)
length (mm) |Without bellows|With bellows |Without belows | With bellows |
920
925 25/50/75/100/125/150
700 600 5 5
¢30 175/200/250/300
®40
The min. stroke length varies depending on the switch mounting method. Refer to the following table.
Min. stroke length with switch (Unit: mm)
T2 T3[rrrY] TW [T075] 75 [T2T3[rt.T] TW [Tavs] Te (7273 [T, TW | ToTs
920 10 25 35 30 25 35 50 55 55 50 55
025 10 25 35 30 25 35 50 55 55 50 55
©32 10 25 35 30 25 35 50 55 55 50 55
®40 10 25 35 30 25 35 50 55 55 50 55
*1: Up to 3 switches can be mounted.
e6 CKD



J S K2/ J S K2 'V Series

Specifications
Switch specifications LCW
; LCR
@ 1-color/2-color display LCG

Proximity 2-wire| Proximity 2-wire Proximity 3-wire LCX

MV [T2YH/[T2WHI| T3H/ [T3PHTV[T3YH/ [T3WH! LCM
TIHTV | vy T3y TOH/TOV | T5H/T5V T8H/T8V s

o For programmable Dedicated for For programmable For programmable |Forpogammable contollr,| — For programmable oo o
Applications |  contrller, relay relay, IC circuit(no indicator STS/STL
compact solenoid valve| Programmable controller controller, relay controller, relay | Jamp), serial connection controller, relay STR2
Output method - NPN output| PNP output|NPN output |NPN output - UCA2
ULK*
Pwr. supp. V. - 10 to 28 VDC -
PP ° JSKIM2
Load voltage|85 to 265 VAC| 10 to 30 VDC |24 \DC +10% 30 VDC or less 12/24 VDC 100/110 VAC 5112124 VDC | 100/110 VAC| 12124 VDC | 110 VAC|220 VAC 155
Load current| 5 to 100 mA 510 20 mA (*2) 100 mA or less | 50 mA or less |5t050 mA|7 to 20 mA|50 mAorless|20 mAorless|5 to 50 mA|7 to 20 mA(7 to 10 mA | JSC3/JSC4
. Red/green|Red/green Yellow |Red/green (Red/green . USsb
Indicator LED LED LED LED Without LED UFCD
) ) LED LED | . LED LED LED ) e ) e
lamp (Lit when ON) | (LitwhenON) | ) (Litwhen ON) | ) ) (Lit when ON) | indicator lamp (Lit when ON) usc
(Litwhen ON) | (Litwhen ON) (Litwhen ON) | (Lit when ON) | (Litwhen ON) JSB3
Leakage |<1mAat100 VAC, LMB
1 mAorless 10 yAor less 0 mA ML
current  |<2mAat 200 VAC L
1m33 |1m18[1m33[1m18] 1m18 [1m33[1m:18 1m:18 1m:33 %
Weight g| 3 m:87 |3 m:49|3 m:87 |3 m:49 3 m:49 3m:87 |3 m:49 3 m:49 3 m:87 LBC
5m:142 |5 m:80 |5 m:142{ 5 m:80 5 m:80 5m:142{5 m:80 5 m:80 5m:142 CAC4
*1 : Refer to Ending Page 1 for other switch specifications. |UCAC2
*2 : The above max. load current is 20 mA at 25°C. The current is lower than 20 mA if the operating ambient temperature around the switch is higher than 25°C. | CAC-N__
(5to 10 mA at 60°C) UCAC-N
*3 : The TO/T5 switch can also be used with 220 VAC. Contact CKD about working conditions. RCC2
*4 : Dimensions depend on switch model No. Refer to Ending Page 18 for details. RCS
PCC
. . SHC
Cylinder weight MCP
@ JSK2 (Unit: kg) | GLC
Item/mounting Product weight when stroke length (S) = 0 mm Switch rail +|Additional weight %
g BB
Basic (00) [Axial foot (LB)|Flange (FA)|Clevis (CA)|Clevis (CC)|Trunnion (TA) band weight| perS=10mm S
©20 0.67 0.82 0.73 0.82 0.68 0.72 Refer to the 0.005 0.01 GRC
©25 1.18 1.44 1.33 1.42 1.18 1.28 weight in the 0.005 0.01 Rv3*
932 1.22 1.48 1.37 1.46 1.22 1.32 switch 0.009 0.02 %
©40 1.91 217 2.06 2.15 1.93 2.07 specifications. 0.009 0.02 N
@ JSK2-V (with valve) (Unit: kg) %
Item/mounting Product weight when stroke length (S) = 0 mm Switch rail +|Additional weight [ S0
Basic (00) [Axial foot (LB)[Flange (FA)|Clevis (CA)|Clevis (CC)[Trunnion (TA) band weight| pers=10mm JETE
©20 0.72 0.87 0.78 0.87 0.73 0.77 Refer to the 0.005 0.01 Ei
©25 1.23 1.49 1.38 1.47 1.23 1.33 weight in the 0.005 0.01 SpaContr
©32 1.27 1.53 1.42 1.51 1.27 1.37 switch 0.009 0.02 @
@40 1.96 2.22 2.11 2.20 1.98 212 specifications. 0.009 0.02
Product weight when S = 0 mm.......... 0.87 kg
Additional weight when S = 100 mm .. 0.01 x Eﬂ =0.1kg
Example) JSK2-V-LB-20-100-2-TOH-D  Weight of 2 switches...........c..ccc.......... 0.018 x 2 = 0.036 kg
Weight of switch rail + 2 bands........... 0.005 X 2=0.010 kg
Product weight..........ccccveiiiniiiieenen. 0.87 kg + 0.1 kg + 0.036 kg + 0.010 kg = 1.016 kg
Theoretical thrust table (Unit: N)

Bore size |Operating Working pressure MPa
(mm) | direction |01 | 045 | 0.2 | 03 ] 04 | 05 | 06 ] 07 | 08 | 09 | 10 |
©20

Push 314 471 62.8 94.2 [1.26X10%[1.57X10%|1.88X10%|2.20X 10| 2.51 X 10?| 2.83%X 10?| 3.14 X 10?
Pull 23.6 35.3 471 70.7 942 |1.18X10%|1.41x10%|1.65%X10%|1.88X 10| 2.12X10?| 2.36 X 10°
025 Push 49.1 73.6 98.2 [1.47X10%|1.96X10%|2.45X10%|2.95% 10%| 3.44X 10| 3.93X 10| 4.42X10?| 4.91 X 10?
Pull 37.8 56.7 75.6 | 1.13X10%|1.51X10%|1.89X10%|2.27 X 10?| 2.64 X 10%| 3.02X 10? | 3.40 X 10% | 3.78 X 10?
032 Push 80.4 |1.21X10%[1.61X10%|2.41X10%[3.22X10%|4.02X10%|4.83X10%|5.63X 10| 6.43X 10?| 7.24 X 10| 8.04 X 10?
Pull 69.1 |1.04X10%|1.38X10?|2.07X10?|2.76 X 10?| 3.46X 10? | 4.15X 10%| 4.84 X 10% | 5.53 X 10% | 6.22X 10% | 6.91 X 10?
40 Push |1.26X10?|1.88X10?|2.51X10?|3.77X10°|5.03X10?| 6.28 X 10 | 7.54 X 107 | 8.80X10% | 1.01X10° | 1.13X10° | 1.26 X 10°
Pull  [1.10X10%[1.65X10%[2.21X10%[3.31X10%|4.41X10%|5.51X 10%|6.62X 10> | 7.72X 10| 8.82X 10* | 9.92%X 10? | 1.10X 10

CKD 697



J S KZ/J S K2 'V Series

LCW
LCR
LCG
LCX
LCM
STM
STG
STS/STL
STR2
UCA2
ULK*
JSG
JSC31USC4
USSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HR
LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ
FK
SpdContr

Ending

How to order
@ Without valve

Without switch (built-in magnet for switch)
(JSK2 )-(LB-(20)()-(50)-(1)——— (D)

With switch (built-in magnet for switch)
(_JSK2 )-(LB)-(20)()-(50)-(1)-T0H)-R-(D)(D)

@ \With valve

Without switch (built-in magnet for switch)

(JSK2-V)-(LB)-(20)( )~(50)-(1) ——(D) (1)

With switch (built-in magnet for switch)

(JSK2-V)-(LB)-(20)( )~(50)-(1)-T0H)-R~(J) (D)

@Mounting

O Model No.

"1 Q Port thread

© Bore size @ stroke length

@ Valve voltage

@ Switch model No.
A\ Precautions for model No. selection

*1 : Low hydraulic can also be supplied as custom order
product
Model numbers are JSK2-H and JSK2-VH.

*2 : For a TA mounting, the brake section with cover and
the clevis bracket cannot be selected together since
they may interfere with each other.

*3 : For the min. stroke length with switch and the
max. and min. stroke lengths with bellows, refer
to page 696.

*4 : The instantaneous max. temperature is the
temperature when sparks, cutting chips, etc.,
instantaneously contact the bellows.

*5 1 “I” and “Y” cannot be selected together.

*6 : Up to three switches can be installed. If four or more
switches are required, switch mounting brackets for the
extra switches must be prepared separately.

*7 : For mounting TA (rod side trunnion), the option U (brake
section with cover) cannot be selected.

[Example of model No.] @ Switch
uantit

JSK2-V-LB-20-50-1- TOH-R-JI o

Model: Brake cylinder with valve

O Model No. : With valve

(5] Mounting : Axial foot © Option

@O Bore size £ 920 mm "

@ Port thread : Re thread -

@ Stroke length ~ : 50 mm

@ Valve voltage  : 100 VAC

@Switch model No.: Reed switch TOH, lead wire 1 m
@ Switch quantity : 1 on rod side

© Option  Bellows
Max. ambient temperature 100°C, O Accessory
instantaneous max. temperature 200°C *5

@ Accessory : Rod eye

698 CKD

N
5|2
Q
22|23
Code Content 8%S|E%
©® Mounting
00 |[Basic [ K )
LB |Axial foot e o
FA |Rod side flange (K )
CA |Eye bracket (K )
CC |Eye bracket integrated [ K )
TA |Rod side trunnion [ K )
TB |Head side trunnion (K )
20 |20 (K )
25 |25 e | o
32 |p32 o e
40 |40 e | o
Blank |Rc thread
NN |NPT thread (925 and over) (custom order product)
GN |G thread (925 and over) (custom order product)
Bore size Stroke length *3 Custom stroke length
©20 5 to 700
®25 5t0 700 In 1 mm increments
932 5 to 700
40 5 to 700

@ Vva

ve voltage

1 [100 VAC(50/60 Hz) [ ]
2 |200 VAC(50/60 Hz) [ ]
3 |24VDC ®

©® Switch model No.

Axial Radial g Voltage Display Lead wire
lead wire | lead wire | S [AC|DC
TOH* TOV* || @ | @ | 1-color display .
® - — 2-wire
T5H* T5V* o | @ | @ [Without indicator lamp
T8H* Tev* |“| @ | @ | 1-color display | 2-wire
T1H* T1V* [ 1-color display | 2-wire
T2H* T2Vv* [ J 1-color display 2-wire
T3H* T3V* [ 3-wire
T3PH* T3PV* ‘E’ @ | 1-color display (custom)|  3-wire
T2WH* T2WV* S [ 2-wire
T2vH* LEAL AT o 2-color display
T3WH* T3WV* [ J 3-wire
T3YH* T3YV* [ J
T2JH* T2JV* [ J Off-delay 2-wire

* Lead wire length

Blank |1 m (standard) e | o
3 3 m (option) [ K )
5 5 m (option) ® | o
R |1 onrod side [ K )
H |1 0on head side [ K )
D |2 [ K )
T |3 (K
© Option
Max. ambient temperature ; Instantaneous max. temp
J Bellows 100°C 200°C [ K )
L Bellows 250°C 400°C ® 0
M  |Piston rod material (stainless steel) (K J
V  [Boss cutoff [ K )
U |Brake section with cover (K )
@ Accessory
| Rod eye
Rod clevis (pin, washer, split pin attached)
B2 |[Clevis bracket (pin, snap ring attached)




J S K2/ J S K2 'V Series

How to order

How to order switch
@ Switch body + mounting bracket set @ Switch body only @ Mounting bracket set

@T? @- (Jsk2 )- T -20

Bore size Switch model No. Bore size
Item © on the previous page) (Item © on the previous page) (Item © on the
previous page)
Switch model No. Mounting bracket
(Item © on the previous page)

How to order brake valve

(USK2-V)-(VALVE-KIT) - ( [ )
Code Content

@ Valve voltage 1406 VAC(50/60 Hz)
2 |200 VAC(50/60 Hz)
3 |24VDC

How to order mounting bracket

R N B (T I
Mountmg bracket

Basic (00) *3 M1-00-20 M1-00-30 M1-00-30 M1-00-30

Axial foot (LB) M1-LB-20 M1-LB-30 M1-LB-30 M1-LB-30

Flange (FA) M1-FA-20 M1-FA-30 M1-FA-30 M1-FA-30

Eye bracket (CA) M1-CA-20 M1-CA-30 M1-CA-30 M1-CA-30
Trunnion (TA/TB) M1-TA-20 M1-TA-30 M1-TA-30 M1-TA-40

LCW
LCR
LCG
LCX
LCM
STM
STG
STS/STL
STR2
(ucA2__
ULK*
JSG
JSC31USC4
USSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HR
LN

*1 : As for mounting brackets, the axial foot and flange include mounting nuts and toothed washers, and the trunnion includes mounting nuts.
*2 : For axial foot, 2 sets of the above “M1-LB-*" are required.
*3 : Mounting nut, toothed washer only. Although 1 set is attached with the basic of the product (00), use this when needed.

Hand
Chuk
MecHnd/Chuk
ShkAbs
FJ
Pk
SpdContr

Ending

CKD 699



J S KZ/J S K2 'V Series

Lcw  Material of mounting bracket
LCR
LCG
LCX
LCM LB Steel Zinc chromate
__ST™M_| FA Steel Zinc chromate
STG -
T STS/STL | TA/TB Steel Zinc chromate
STR2 | CA Steel Zinc chromate
LAE Note: Mounting bracket will be shipped with the product.
& However, if the product is supplied with bellows and the mounting bracket is LB, FA, or TA, it will be shipped assembled.
JSKIM2
JSG
JSC31JSC4 .
~ ussp Internal structure and parts list
USSD
UFCD . .
o~ | @ JSK2-V (with valve and switch
usc
~ Jsp3 @ JSK2 (with switch)
LMB
LML ©
HCM 0 0 9 6
HCA
LBC
CAC4 T T T
B s i \ h
UCAC2 _E@ L\% Sy
CAC-N Jo
UCAC-N .
oReez /@\ ) Jfesl y
— i & @)
__Pcc | 1 = N {
SHC ] \ZAAN") 2 @ e
MCP
GLC
MFC
BBS
RRC
GRC
~RV3" | Note: This product is a caulked and cannot be disassembled.
NHS
HR
LN
Hand
Chuk
MecHnd/Chuk
ShkAbs :
— Cannot be disassembled
Fk Parts list
SpdContr
1 |Rod nut Steel Zinc chromate 18 [Hex socket screw |Steel Black finish treatment
i 19 [Hex socket screw |Steel Black finish treatment
2 |Piston rod ¢20/g25 stainless steel Industrial chrome plating
932/940 steel 20 |(Brake spring Steel Black finish treatment
3 |Scraper Nitrile rubber 21 |Brake shoe metal|Cast iron
4 |Brake body Cast iron Zinc chromate 22 |Bush Dry bearing
5 |Brake piston Copper alloy casting 23 |Ring Steel
6 |Piston packing |Nitrile rubber 24 |Rod packing Nitrile rubber
7 |Lever Steel Zinc chromate 25 |Fixed ring Steel Zinc chromate
8 |Valve for brake release |--- P5136MO 26 |[Square flange Steel Zinc chromate
9 |Rod cover Aluminum alloy 27 |Hex socket screw|Steel Black finish treatment
10 |Cylinder tube Stainless steel 28 |Piston A Aluminum alloy
11 |Cushion rubber |Urethane rubber 29 [Magnet Plastic
12 |Piston packing |Nitrile rubber With switch
13 [Wear ring Acetal resin 30 |Switch body -—-
14 |Piston B Aluminum alloy 31 [Band Stainless steel
15 |Spacer Steel Zinc chromate 32 |Pan head machine screw| Stainless steel
16 |[Hexagon nut Steel Zinc chromate 33 |Switch rail Stainless steel
17 |Head cover Aluminum alloy
0 CKD



J S K2 'V Series

Double acting/with valve

Dimensions Y
LCR
@ Basic (00) LCG
LCX
X + stroke length LCM
A _ _WF, LL + stroke length \A STM
50 ¢ Y BA BB + stroke length X sTa
BL MM BC_, BD 37 P —
P ! STS/STL
BU K BS BE |16 GC 30.5 30.5 GD16 [ QIO TE
=7 | EE RD HD [STR2
T M5 8 8 UCA2
A4 1 ) : g JSKIM2
= of @ 73 . g JSG
@ @2) 3 2 2 5 JSC3USCH
USSD
KK/ MB |6 - 7 UFCD
BH Hexagon B o BG 10 l()» MB usc
BP XF XE + stroke length JSB3
LMB
LML
HCM
A WF+2 X1+ stroke length |HCA
bl 16 ILBC
| ‘cAca
- —47 UCAC2
° =T CAC-N
s : UCAC-N
RCC2
XF+ 8 RCS
XE1+ stroke length o
[With bellows] AT Aene G PCC
[Boss cutoff] SHC
MCP
GLC
RD: Rod side max. sensitivity position %
HD: Head side max. sensitivity position —
*1 : Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches. IRRC____
*2 : The size of the exhaust port of brake section is the same as that of EE. GRC
*3 : For the £ dimension, round up below the decimal point. Rv3*
*4 : For the dimensions of the accessories, refer to page 721. NHS
HR
m Basic (00) basic dimensions LN
nnmmmmmmmmmmm-n Hand
Chuk
214 | 20U
MecHnd/Chu
tp25 23 17 67 69 9.5 | 38.5 19 6 39 42 66 45 22 43.8 | 345 7 7 20 26.4 W
(p32 23 17 67 69 9.5 | 38.5 19 6 39 42 66 45 22 43.8 | 34.5 7 7 20 336 [Fy
8 80.5 | 555 39.5 416 |FK
m With switch (TO 5, 12, 73) R
M5 M8X%1.0 124 M18X 1.5 182 | 138
(p25 Rc1/8 32 14 M10X1.25 | 136 M26X 1.5 12 6 16 23 198 | 152 | 46 55 | 45 | 95 | 85
(p32 Rc1/8 36 14 M10X1.25 | 136 M26X 1.5 12 6 16 23 198 | 152 | 46 55 | 45 | 95 | 85
Rc1/8 45 14 M12X1.5 147 M26X 1.5 14 7 16 23 211 | 163 | 48 75 | 65 | 115|105
m With switch (T2W, T3W) With bellows Boss cutoff
oz o\ oc TonTro Tro e Trifrorl o Ta T 2
6.0 50 | 10.0 | 9.0 || 17.3 | 19.5 30 30 (Stroke length/3) + 6 168 124
(p25 7.5 6.5 [ 11.5 | 10.5 || 19.8 | 22.0 18 32 46 (Stroke length/3.25) + 7 182 136
®32 7.5 6.5 | 11.5| 105 | 24.3 | 25.5 15 32 46 (Stroke length/3.25) + 7 182 136
@40 9.5 85 | 135|125 | 28.3 | 29.5 12 34 46 (Stroke length/3.25) + 7 195 147
CKD o



J S K2 'V Series

__Lcw ' Dimensions
LCR
LCG | @ Axial foot (LB)
LCX
LM LA + stroke length
stroke leng
__ST™M | 50 A, WF LL + stroke length v
__STG | BL c_| v BA BB + stroke length
STS/STL oMM BC BD - 37 ‘
_ STR2 | BU T BS BE_| 16 GC 30.5 305 GD16
UCA2 P1 EE RD HD
ULK* Ms | 8 8l
HY l 2-Rc1/8
JSKIM2 Eﬂﬁ © ~\C I ) 2-Rc1/8
JSC31USC4 o c V" | e % ) }V i d d
ussb + |8 f £ ! _ E
© ez 7 e IS SIKe ==
UFCD &. F4 hd A I —
uUsc I Pt @H
- KK -
JSB3 L mk
LMB Hexagon B . o 10 1 —
DML s LR o e o e W " Lc Jie
@ o) LG + stroke length
HCM LS
HCA
LBC
CAC4 A WF+8
UCAC2 b |
CAC-N
UCAC-N
RCC2
RCS 3 —{--
PCC
SHC
MCP XF+8
GLC )
" MFC | [With bellows]
BBS
RRC
GRC
RV3*
NHS | *1:Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches.
" HR | *2 : The size of the exhaust port of brake section is the same as that of EE.
LN *3 : For the £ dimension, round up below the decimal point.
~Hand | *4 : For the dimensions of the accessories, refer to page 721.
Chuk Axial foot (LB) basic dimensions
BT e o)\ A | 4B | B | BA] BB | BC ] BD | (6N [ B0 [ B8R | b5 [BU] ¢ |
% 920 20 | 6 | 13|58 |66 | 9 |3 | 19| 5 | 34|63 |3 | 19| 20| 4 |38/ 18 214 M5
EK 025 23 7 17 67 69 95 | 385 | 19 6 42 75 45 22 | 345 7 7 20 | 26.4 Rc1/8
~ SpdContr | 932 23 | 7 |17 | 67 | 69 | 95 |385| 19 | 6 | 42 | 75 | 45 | 22 |345| 7 | 7 | 20 |336| Rc1/8
m ®40 25 7 19 74 73 8 48 18 8 50 [ 855|555 | 25 | 395 7 7 22 | 416 Rc1/8
‘ml:lmmm-
®20 28 26 15 M8X1.0 124 10 5 14 24 196 | 10 18 160 25 30 44 4.0 3.0 8.0
925 32 35 20 | M10X1.25 | 136 12 6 16 23 217 | 12 23 | 182 | 30 46 62 55 | 45 | 95
¢32 36 35 20 M10X1.25 | 136 12 6 16 23 217 | 12 23 182 30 46 62 55 | 45 9.5
®40 45 35 20 M12X1.5 147 14 7 16 23 230 | 12 23 193 30 46 62 75 | 6.5 | 11.5
m With switch (T2W, T3W) With bellows
Boresze (mm \| D || GC [ G0 [ D [0 | P [P1]@on] xe [ b [ a ] &
®20 7.0 6.0 50 [ 100 | 9.0 [[17.3 ]| 19.5| 22 44 30 30 (Stroke length/3) + 6
925 85 | 75 | 65 | 115105 19.8 | 220 | 18 46 32 46 (Stroke length/3.25) + 7
®32 8.5 7.5 6.5 | 115|105 243|255 | 15 46 32 46 (Stroke length/3.25) + 7
@40 105 | 9.5 85 | 135 (125 28.3 | 295 | 12 48 34 46 (Stroke length/3.25) + 7
2 CKD



J S K2 'V Series

Double acting/with valve

Dimensions Y
LCR
@ Rod side flange (FA) LCG
X + stroke length chi
50 A, WF LL + stroke length v |[LCM
BL C v BA BB + stroke length K STM
MM BC, BD 37, STG
B @ BS BE | 16 GC_30.5 30.5 GD 16 STSISTL
T 5 EE 8 RD HD 8 STR2
‘ UCA2
i 2¢ I 3 3 2Rc1/8 ULK
& ‘ o : 5 ‘ JSKIM2
R /ﬁ\ & @ o TTh— * JSG
@ oz 1 C— Y JSC31ISC4
= (o) USSD
O U Q KK I -n UFCD
FL Hexagon B ME a BG 10 10] MB %
M __4-0FD_ W FG + stroke length il
LMB
LML
HCM
HCA
Ab WF+2 X1+ stroke length LBC
| 16 CAC4
8 UCAC2
»0le
CAC-N
° UCAC-N
=4 | YOALN
_ _ RCC2
. RCS
XF+2 PoC
[With bellows] FG1+ stroke length SHC
ith bellows e
MCP
B toff t e
[Boss cutoff type] GLC
MFC
BBS
RRC
GRC
*1 : Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches. RV3*
*2 : The size of the exhaust port of brake section is the same as that of EE. NHS
*3 : For the £ dimension, round up below the decimal point. HR
*4 : For the dimensions of the accessories, refer to page 721. LN
m Rod side flange (FA) basic dimensions |Hand
. Chuk
[Boresize(mm) \| A | B [BA[BB[BC|BD|BE|BG[BT[BL|BN|BO|BR[BS[BU| C|DJEE|F | K[ KK [rmees
920 20 13 58 66 9 30 19 5 55 34 38 19 29 4 38| 18 |214| M5 | 28 12 M8X1.0 W
®25 23 17 67 69 | 9.5 | 385 19 6 67 42 45 22 |345| 7 7 20 | 26.4 |Rc1/8| 32 14 |M10X1.25 ()
®32 23 17 67 69 | 9.5 385 19 6 67 42 45 22 |345| 7 7 20 | 33.6 |Rc1/8| 36 14 [M10X1.25 |FK
940 25 19 74 73 8 48 18 8 |[775| 50 [555(| 25 |395| 7 7 22 | 41.6 |[Rc1/8| 45 14 | M12x1.5 | SpdContr
m Mounting dimensions With switch (T0, T5, T2, T3) [ SRR
Boresizemm) \| LL | _MB_[MF mm| T |V |wI[wWF|XxJFC|FD| FG |FH|FLI|Fm[GC|GD[RD]|HD |
920 124 | M18X1.5 | 3.2 10 5 14 | 208 | 24 182 20 6 141.2 34 40 54 40 | 30 | 80 | 7.0
925 136 | M26X1.5 | 4.5 12 6 16 [ 185 | 23 | 198 | 28 7 156.5 44 64 80 55| 45 | 95 | 85
®32 136 | M26X1.5 | 45 12 6 16 | 185 | 23 | 198 | 28 7 156.5 44 64 80 55| 45 | 95 | 85
940 M26X1.5 | 4.5 14 7 16 | 185 | 23 | 211 28 7 167.5 80 75 | 6.5 | 1.5 [ 10.5

h (T2W, T3W)

=

920 6.0 | 50 [10.0| 9.0 | 44 30 30 (Stroke length/3) + 6 168 127.2
025 75 65 | 115|105 46 32 46 (Stroke length/3.25) + 7 182 140.5
¢32 75| 65 [ 115|105 46 32 46 (Stroke length/3.25) + 7 182 140.5
¢40 95 | 85 | 135 (125 48 34 46 (Stroke length/3.25) + 7 195 151.5

CKD 703



JSK2-V

Series
__Lcw ' Dimensions
LCR
LCG | @ Eye bracket (CA) CAD
_ LCX | CA + stroke length
LCM A WFE LL + stroke length GE
ST™M C vV BA BB + stroke length
STG BC, BD , . |37 CL _|_CM 50
STSISTL oMu|| | K BS BE 16_GC_30.5 30.5 GD 16 BL
STR2 T EE RD HD BL¢
W bt | | M5 g _ 8 @CDh1o
ULK* S __2-Rcl/8 3
m) 2 [a)
JSKI/M2 \/ ) T =Y 1
JSG A T e T — ]
JSCaisc4 e b il vy | 2= = R _ —— {3}} |
uSSD i ] =
~ UFCD « = o o s
UscC Hexagon B/ MB »1BG 110 e S
JSB3 CJ + stroke length
LMB A WF+2
LML b
HCM
HCA -
LBC S -
CAC4
UCAC2 XF+ 8
e S EEEE— |
_ GAC-N| [With bellows]
UCAC-N
% @ Eye bracket (CA) with bracket (option)
PCC - CA + stroke length
SHC AL WE LL + stroke length GE 50
—McP | C.| M. Ba BB + stroke length T
GLC ~BC, BD 37, CL__CM BL
T MFC | oMM|| | K BS| BE | 16 GC_30.5 30.5 GD16 o
BBS T 5 EE RD HD cQl
RRC T ° 2Rell8 ° 3
- = | -R¢ *
__GRC | NOH[@ A ‘
RV3* ;\( S d 1
NHS K [ 1 HH T . [
—NHS sleels | B - M
HR 4 E g A4 o) WA/ \9
LN KK 6|
_ Hand | Hexagon B MB - w 19
Chuk ME BG CJ + stroke length
MacHnd/C 7 N
 VeotndCut K 20 | 1020 | | 2010
'EgkAbs |75 40 4-slot 7 x 11 CR
FK 55 Cs
~ SpdContr | *1 : Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches.
——————— *2 : The size of the exhaust port of brake section is the same as that of EE.
Ending | *3 : Not piping port.
*4 : For the & dimension, round up below the decimal point.
*5 : For the dimensions of the accessories, refer to page 721.
m Eye bracket (CA) basic dimensions
[Boresize (nm) \| A | B | BA[BB[BC|BD|BE|BG|BL(BW|BN|BO|BP|BR[BS[BU| C| D] EE | F|FC|GE]
©20 20 | 13 | 58 | 66 9 30 | 19 5 34 | 55 | 38 | 19 | 38 | 29 4 38| 18 (214 M5 28 | 26 | 55
25 23 17 | 67 | 69 | 9.5 [385| 19 6 42 | 66 | 45 | 22 (438|345 7 7 20 | 26.4 Rc1/8 32 | 35 | 62
®32 23 17 | 67 | 69 | 9.5 (385 19 6 42 | 66 | 45 | 22 (438|345 7 7 20 | 33.6 Rc1/8 36 | 35 | 62
@40 25 |1 19 | 73 | 73 8 48 | 18 8 50 | 80.5(555| 25 | 52 |395| 7 7 22 | 416 Rc1/8 45 | 35 | 62
_ Mounting dimensions
IS T TR T KA
®20 12 M8X1.0 124 M18X1.5 10 5 14 | 24 | 223 | 14 10 10 | 193 | 31 24 | 22 8 48 | 68
925 14 M10X1.25 135 M26X1.5 12 6 16 | 23 || 244 | 18 12 12 (209 | 32 | 30 | 26 10 | 50 | 70
932 14 M10X1.25 136 M26X1.5 12 6 16 | 23 || 244 | 18 12 12 (209 | 32 | 30 | 26 10 | 50 | 70
@40 14 M12X1.5 147 M26 X 1.5 14 7 16 | 23 | 257 | 18 | 12 | 12 |220| 32 | 30 | 26 | 10 | 50 | 70
_ ith be
Bore stz (mm \ GG [ 6D [ RD [ WD [GC [Gp RO D[ XF [ o [ a | 2 |
920 40 30|80 |70(60|50][10]90( 44 | 30 | 30 (Stroke length/3) + 6
25 55 (45 (95 (85| 75|65 | 115 (105 46 32 | 46 (Stroke length/3.25) + 7
932 55 (459585 75|65 | 115|105 46 32 | 46 (Stroke length/3.25) + 7
940 75|65 |115| 105 95|85 | 135|125 48 | 34 | 46 (Stroke length/3.25) + 7
4 CKD



J S K2 'V Series

Double acting/with valve

Dimensions Y
LCR
@ Eye bracket integrated (CC) CAD LCG
LCX
CA + stroke length |[LCM
A, WE LL + stroke length CM STM
c.| M. BA BB + stroke length 50 STG
BC _ BD 37 ‘ BL STS/STL
oMm|| | K BS BE | 16 GC, 30.5 30.5 GD 16 BY STR2
EE RD HD
T M5 8 8 q)CDHw 3827*2
7S 2-Rc1/8 © =
O {0 a 2 %é JSKIM2
D S / - JSG
Jul l it =" JSCaUISCA
* ° [JOLIIOLY
BMIO0M T 1y UssD
KK &) UFCD
Hexagon B MB E— UscC
BG |10 10 CB|CC| _—
e JSB3
CJ + stroke length [eoby
A P LMB
e LML
HCM
,_} HCA
° LBC
3 |wbb
S [CAC4
2 UCAC2
CAC-N
[With bellows] [UCACN
RCC2
RCS
@ Eye bracket (CC) with bracket (option) PCC
CA + stroke length 50 SHC
A, WE LL + stroke length CM MCP
C Vol e BA BB + stroke length BL GLC
BC . BD 37 ‘ U 'MEC
oMM K BS| BE | 16 GC_30.5 30.5 GD 16 CQ3} eeor—
EE RD HD |BBS
T MSj 8 8 RRC
) . N 2-Rc1/8 o GRC
OO Q - RV3*
A T : NHS
° P ‘ HR
° ° B} — N\ LN
KK W@ ST S—
H g/ MB = o] w |Hand
£x89en 12 W s Chuk
BG MecHnd/Chuk
20 > ShkAbs
N7s| T a0 4-slot 7 x 11 T
55 FK
. . . . . SpdContr
*1 : Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches. —
*2 : The size of the exhaust port of brake section is the same as that of EE. Ending
*3 : For the 2 dimension, round up below the decimal point.
*4 : For the dimensions of the accessories, refer to page 721.
m Eye bracket integrated (CC) basic dimensions
Boresize mm) \| A | B | BA|BB[BC|BD|BE|BG|BL|BM|BN[BO|BP|BR[BS[BU|C|D | EE |
¢20 20 13 58 66 9 30 19 5 34 55 38 19 38 29 4 38 | 18 | 214 M5 28
925 23 17 67 69 95 (385 19 6 42 66 45 22 |438(345| 7 20 (264 Rc1/8 32
932 23 17 67 69 9.5 | 385 | 19 6 42 66 45 22 | 438|345 7 20 | 336 Rc1/8 36
@40 25 19 74 73 8 48 18 8 50 |80.5(555| 25 52 |395( 7 7 22 (416 Rc1/8 45
m Mounting dimensions
I T T 0 Bl R R T
®20 12 M8X1.0 124 | M18X1.5 10 5 24 14 24 189 | 12 9 8 160 | 21 22 16 56 76
925 14 | M10X1.25 | 135 [ M26X1.5 12 6 30 16 23 || 203 | 12 9 8 171 21 24 16 56 76
932 14 | M10X1.25 | 136 | M26X1.5 12 6 34 16 23 || 208 | 14 12 10 | 173 | 26 24 16 56 76
@40 14 M12X1.5 | 147 | M26X1.5 14 7 43 16 23 || 225 | 16 14 12 | 186 | 30 30 20 60 80
‘
®20 40 | 30| 80 | 70| 6.0 | 50 [ 100 | 9.0 44 30 30 (Stroke length/3) + 6
®25 55| 45|95 | 85| 75|65 | 115|105 | 46 32 46 (Stroke length/3.25) + 7
$32 55| 45|95 | 85|75 |65 | 115|105 | 46 32 46 (Stroke length/3.25) + 7
@40 75 (65 (115|105 95 | 85 | 135 | 125 | 48 34 | 46 (Stroke length/3.25) + 7
CKD s



J S K2 'V Series

~_Lew | Dimensions
LCR
LCG | @ Rod side trunnion (TA) CAD
LCX X + stroke length
LCM 50 _A__WF LL + stroke length V.
———— ‘4—»
STM BL _ c y, BA BB + stroke length X
STG BH _ BC_, BD 37,
STSISTL BU T BS| BE | 16 GC_ 30.5 305 GD16
STR2 *T i B, EE . RD HD 6
UCA2 MM M5 ; N
_— = A i TT1 7 2-Rc1/8
ULK* _ ~1He ‘ O a
JSKIM2 @ = = o ?ﬂ( ©
1SG = 9! 7 i} b I T —
90 @ () < T of % w
JSC31JSC4 Q?j wH N7 M =" S
ussD KK | > =
UFCD ‘ $ = u MB
ToE TL  T™ a Hexagon B IE o Bg |10 19
- TN - TE TG + stroke length
JSB3
LMB A WF+2
LML o X1+ stroke length
HCM
HCA
LBC 3 @]{l1 T4
CAC4
UCAC2 -
—— XF+2
CAC-N - TG1+ stroke length
A b [With bellows]
UCAC-N [Boss cutoff type]
~ RCC2 | @ Rod side trunnion (TA) with bracket (option)
__RGCS | 50 X + stroke length
PCC TN‘ > A WF LL + stroke length V.
SHC AL (¢ v, BA BB + stroke length X
MCP L ™ _|BC. BD 37
GLC BU T ! BS| BE | 16 GC_305 30.5 GD 16
MFC ~ 18, M5, EE RD HD
8BS | | LTe " sretel | [T
RRC . 2B MM NS ERIK 5 =5
GRC s o / % ><v S
RV3* OI N\ BR ) | Vi1
BN ER LTSN oz AN OO "
NHS Kk:?} wl W A S
HR || =
LN B ‘ 8 KK - u MB
= | 1 1
Hand BH e o.llBe 2
—Chuk | /) A Hexagon B
SLLLS. 10 20 20 [10 el TG + stroke length
MecHnd/Chuk N
TR © 20
ShkAbs TS 40 7.5
FJ 55
FK . . . . .
~ SodCont | *1 : Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches.
~ SpdConlr | «5 . The size of the exhaust port of brake section is the same as that of EE.
Ending | *3 : For the 2 dimension, round up below the decimal point.
*4 : Option with bracket cannot be selected for the brake section with cover “U”.
*5 : For the dimensions of the accessories, refer to page 721.
m Rod side trunnion (TA)
Bore size (mm) \| A | B | BA|BB|BC|BD|BE|BG|BH[BL[BM|BN|BO[BR[BS|BU|] C[D | EE | F|FA[K|
®20 20 (13| 58 |66 | 9 |30 |19 | 5 |29 |34 |55 (38|19 |29 | 4 |38]| 18 |214 M5 28 | 26 | 12
$25 23 | 17 | 67 | 69 | 95 |385| 19 6 39 | 42 | 66 | 45 | 22 [345| 7 20 | 264 Rc1/8 32 | 35 | 14
¢32 23 | 17 | 67 | 69 | 95 |385| 19 6 39 | 42 | 66 | 45 | 22 [345| 7 20 | 336 Rc1/8 36 | 35 | 14
®40 25 (19 | 74 | 73 | 8 | 48 | 18 | 8 | 50 | 50 | 805 [55.5| 25 (395 | 7 7 | 22 |416| Rc1/8 45 | 35 | 14
Mounting dimensions
Bore sizo o)\ KK [ L] W& W] 7 7L Tm ] TR 75| v [ Wr] X |
920 M8X%1.0 124 M18X1.5 10 5 8 30 | 70 | 90 14 | 24 | 182 | 4.5 8 9 195 | 1425 | 295 8
$25 M10X1.25 136 M26X1.5 12 6 12 | 40 | 80 | 100 | 16 | 23 [ 198 | 5.5 | 10 11 | 175 | 1575 39 | 12
¢32 M10X1.25 136 M26X1.5 12 6 12 | 40 | 80 | 100 | 16 | 23 [ 198 | 5.5 | 10 11 | 175 | 1575 39 | 12
@40 M12X1.5 147 M26 X 1.5 14 7 95| 53 | 93 |1M3 | 16 | 23 [ 211 | 55 | 10 11 | 175 | 1685
With switch (T0, T5, T2, T3)|| With switch (T2W, T3W)|| With bellows
cJ o [rp ol ccoplroMOlXF[ bl a] ¢ | xi ] Toi
®20 30 | 46 |40 | 30|80 |70 (60|50 (10090 44 | 30 | 30 (Stroke length/3) + 6 168 128.5
925 40 | 64 || 55| 45 |95 (85| 75|65 (115|105 46 | 32 | 46 (Stroke length/3.25) + 7 182 141.5
¢32 40 | 64 || 55| 45 |95 |85 || 75|65 115|105 46 | 32 | 46 (Stroke length/3.25) + 7 182 141.5
®40 53 | 72 | 75| 65 | 115|105 9.5 | 85 | 13.5|125| 48 | 34 | 46 (Stroke length/3.25) + 7 195 152.5
s CKD



J S K2 'V Series

Double acting/with valve

Dimensions Y
LCR
@ Head side trunnion (TB) CAD| LCG
X + stroke length |[LCX
A_ WF LL + stroke length v LCM
C v BA BB + stroke length 50 STM
BC, BD BL,_ sT6
T K ‘ BS| BE | 16GC_305 30.5 GD16| _|cB BU STS/STL
[l EE RD HD STR2
e o 2-Relf8 1 (UCAZ
Ly 2-Rc1/8 M
MO O Q Jo el ke ULK*
> T ° B S R — b A, JSKIM2
- ® ] . | C ’$ @ E 8¢ < 9SG
- o — & @ W H | seauses
KK Lo | ussb
_ L 3 UFCD
Hexagon B MB o BG w lg TE STL . T™ E usc
TJ + stroke length | XK N o o
JSB3
LMB
A WF+ 2 LML
b HCM
HCA
9 | _ |ILBC
S CAC4
UCAC2
XF+2 CAC-N
[With bellows] UCAC-N
@ Head side trunnion (TB) with bracket (option) |RCC2
X + stroke length |IRCS
A | WF LL + stroke length Y 50 PCC
c |V BA BB + stroke length N |SHC
- > BL MCP
B¢ BD | Glc
T |k ‘ BS |BE|16GC 305 305 GD16 |TE ., ™ e
M5 EE 8 RO it 8(cB i BBS
\ ; 2R ; RRC
TS Retl8 |RRY
& RIG o GRC
’_l > S n = zZ RV3*
; T Kl o 'NHS
o] ® — : ?RQ @ S <l NHS
* i NP S wFHR
KK S I
Pas| 1 LN
Hexagon B, i m 10| 'S o Hand
MB m re] |Hand
‘BG g . Chuk
TJ + stroke length S 4-slot 7 x 11 g - MegHdCh
S| [20 10] 20 20 10 ShkAbs
75 40 TR FJ
55 TS FK
*1 : Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches. | SpdContr _
*2 : The size of the exhaust port of brake section is the same as that of EE. Ending
*3 : For the £ dimension, round up below the decimal point.
*4 : For the dimensions of the accessories, refer to page 721.
m Head side trunnion (TB) basic dimensions
[Bore size (mm) \|_A | B | BA | BB |BC|BD|BE|BG|BL|BM|BN|Bo|BR|Bs|BU| C|cB|D| EE [ F [FA]
®20 20 13 | 58 | 66 9 30 19 5 34 | 55 | 38 19 | 29 4 38 | 18 | 45 (214 M5 28 | 26
®25 23 17 67 69 | 9.5 | 385 19 6 42 66 45 22 |345| 7 7 20 | 55 | 26.4 Rc1/8 32 35
®32 23 17 67 69 | 9.5 1385 19 6 42 66 45 22 |345| 7 7 20 | 5,5 |33.6 Rc1/8 36 35
@40 25 | 19 | 74 | 73 8 48 18 8 50 | 805|555 25 |395| 7 7 22 | 55 [41.6 Rc1/8 45 | 35
m Mounting dimensions
kK [] _we [mm] T v [wr] X X<
920 12 M8X1.0 124 M18X1.5 10 5 14 24 | 182 | 95 8 9 (2951525 8 30 46 70 90
®25 14 M10X1.25 136 M26X 1.5 12 6 16 23 | 198 | 105 || 10 11 39 | 1645 | 12 40 64 80 | 100
932 14 M10X1.25 136 M26X1.5 12 6 16 23 | 198 | 105 || 10 1 39 |1645| 12 40 64 80 | 100
@40 14 M12X 1.5 147 M26 X 1.5 14 7 16 23 | 211 | 105 || 10 11 44 (1755 | 9.5 | 53 72 93 | 113
m With switch (T0, T5, T2, T3)|With switch (T2W, T3W)| With bellows
Boreszs (nm \[ GC | 6D [ R0 [ WD [ GC [Gp [ RO [ WD XF [ b ] a | 2 |
»20 40 | 30 (80|70 6.0 50/|100| 9.0 | 44 | 30 30 (Stroke length/3) + 6
925 55 (45|95 | 85| 75|65 |11.5(105]| 46 32 46 (Stroke length/3.25) + 7
®32 55 (45|95 |85 | 75|65 |115[105]| 46 32 46 (Stroke length/3.25) + 7
@40 75|65 115105 95 | 85 [ 135|125 48 | 34 | 46 (Stroke length/3.25) + 7
CKD o7



J S K2 Series

~Lew Dimensions
LCR
LCG | @ Without valve, basic (JSK2-00)
LCX X + stroke length
_LCM_ | A | WF LL + stroke length V
__ST™ | 9] Y BA BB + stroke length K
__STG | BL BC BD
STSISTL
T STR2 | BU T K BS| BE |16 GC 30.5 30.5 60 16
UCA2 .= L 1IRD HD
ULK* 8 8
am f 2-Rc1/8
JSKIM2 O ‘ ol ]
JSG z = - —éﬂ(
JSC3SC4 2 8I FSIN - T E—
bl * <+
USSD @)\\ ) + r L3 | | =
OO0 | J [ (o)
UFCD J KK / h 2 @ i s
usc HexagonB Y _MB o s o 0 MB
JSB3 BH =
LMB BP XF XE + stroke length
LML
HCM
HCA
LBC A WF+ 2
CAC4 bl
UCAC2 |
CAC-N - —47
UCAC-N o =
RCC2 ]
RCS
PCC XF+ 2
__SHC | [With bellows]
MCP
GLC
MFC
BBS
RRC . . . . .
~ GRrc | "1 :Refer to page 709 for HD, RD and protruding dimensions of T*, T8*, and 2-color display switches.
T RV3* | *2 : The mounting dimensions are the same as those of JSK2-V (with valve). Refer to pages 702 to 707.
“NHS | *3 : For the 2 dimension, round up below the decimal point.
AR | *4 : For the dimensions of the accessories, refer to page 721.
LN Without valve/basic (JSK2-00) basic dimensions
BRIy e ore size (nm) \|_A_| B [ BA| BB | BC[BD|BE]|BG|BH]|BL|BM|BN|BO|BP|BS|BU|C|D|EE]
QhUk ¢20 20 13 58 66 9 30 19 5 29 34 55 38 19 38 4 3.8 18 214 | M5
% 925 23 17 67 69 9.5 | 385 19 6 39 42 66 45 22 | 438 7 20 | 26.4 |Rc1/8
TR ¢32 23 17 67 69 9.5 | 385 19 6 39 42 66 45 22 | 438 7 20 | 33.6 [Rc1/8
FK 940 25 19 74 73 8 48 18 8 50 50 80.5 | 55.5 25 52 7 22 416 |Rc1/8
SpdContr m With switch (T0, T5, T2, T3)] With switch (T2W, T3W)
RN v < (o) \ F [ K | Kk L] W Jww] T | v [wr] X ] xE | X Gc]op]RoHp]Gc]Go]Ro
¢20 28 12 M8X1.0 124 | M18X1.5| 10 5 14 24 | 182 | 138 | 44 40| 30| 80| 70 | 6.0 | 5.0 | 10.0
925 32 14 | M10X1.25 | 136 | M26X1.5 | 12 6 16 23 | 198 [ 152 | 46 || 55 | 45 | 95 | 85 | 75 | 6.5 [ 11.5
¢32 36 14 | M10X1.25 | 136 | M26X1.5 | 12 6 16 23 | 198 | 152 | 46 || 55 | 45 | 95 | 85 | 75 | 6.5 | 115
@40 45 14 M12X1.5 | 147 | M26X1.5 | 14 7 16 23 | 211 | 163 | 48 75|65 | 115|105 95 | 85 | 135
‘m I I T I I T
920 9.0 [ 173]195| 22 | 30 | 30 (Stroke length/3) + 6
025 105 19.8 [22.0| 18 | 32 | 46 (Stroke length/3.25) + 7
932 10.5( 243|255 | 15 32 46 (Stroke length/3.25) + 7
40 125283 295 12 34 46 (Stroke length/3.25) + 7
s CKD



J S K2 Series

Dimensions
Dimensions Y
LCR
@ Brake section with cover (U)/basic (JSK2-00) LCG
LCX
X + stroke length LCM
A WF LL + stroke length V STM
C \4 BA BB + stroke length STG
oMM AC 16 GC_30.5 305 GD16 | K | | STSISTL
50 LI . fa) RD HD |STR2
< 8 8 UCA2
/ 2Rc/8 = ULK
© (&, 'T\ — —
o Ff / !\LV & J 10 A 10 o || EIE
4 i i % F\L - E %‘ JSG
y 0 VT ) JSC31USC4
@) b Lo o JFCNE ssp
n -~ e | A=\ UFCD
< KK/ || L
MB Y- BG MB usc
P
AB Hexagon B XF XE + stroke length Lo~ E - .
AA LMB
LML
HCM
HCA
LBC
RD: Rod side max. sensitivity position CAC4
HD: Head side max. sensitivity position UCAC2
CAC-N
m Basic (00) basic dimensions UCAC-N
- RCC2
[Boresize (mm) \|_ A | AA | AB [ AC [AD | AF |AG| B [BA[BB[BG[BR| C | D | F [ K[ K< |[LL JESSS
920 20 | 51 | 47 | 39 |585[195| 39 | 13 | 58 | 66 5 29 | 18 | 214 | 28 | 12 M8X1.0 | 124 o
025 23 | 56 | 52 | 485|725 | 25 | 475 | 17 | 67 | 69 6 [345| 20 264 | 32 | 14 [ M10X1.25 | 136 | SHC
032 23 | 56 | 52 | 485|725 | 25 |475| 17 | 67 | 69 6 |345| 20 |336| 36 | 14 | M10X1.25 | 136 | MCP
940 25 | 69 | 65 | 56 |8575|2875| 57 | 19 | 74 | 73 8 [395| 22 416 | 45 | 14 | mi12x15 | 147 |GLC
_ With switch (T0, T5, T2, T3)] With switch (T2W, T3W) e
[Bore size mm)\| __ MB__[MM| T | v |WF| X | XE [ XF | GC [ GD | RD | HD [l GC [ GD | RD [ HD [l P [(PO)° 'RRC
920 M18X15 | 10 | 5 | 14 | 24 [ 182 | 138 | 44 | 40 | 30 | 80 | 70 | 6.0 | 5.0 [ 100| 9.0 | 17.3| 22 GRC
25 M26X15 | 12 | 6 | 16 | 23 [ 198 | 152 | 46 | 55 | 45 | 95 | 85 | 7.5 | 6.5 | 115 | 105 | 19.8 | 18 RV3*
032 M26X15 | 12 | 6 | 16 | 23 [ 198 | 152 | 46 | 55 | 45 | 95 | 85 | 7.5 | 6.5 | 11.5 | 105 | 24.3 | 15 INHS
@40 M26X15 | 14 | 7 | 16 | 23 [ 211 [ 163 | 48 | 75 | 65 | 115 | 105| 95 | 85 | 135|125 | 28.3 | 12 ['57
Hand
. . . . . . . . Chuk
JSK2 Series common dimensions (with T1, T8 switches, with 2-color display switch) T
ShkAbs
@ JSK2-**-**-T1H/V, T8H/V, T3 YH/V Fy
PR
SpdContr
Ending
RD_ 30.5 30.5 HD
i O
| T o
& () P IS CIRe = ||| 1
1S yicol
SEA -
10
[
Switch installation dimensions
| 1-color display (T1, T8) 2-color display (T Y) 2
- T8 T1,T3Y T1 |T3YT8
Bore size (mm)
920 7.0 2.0 6.0 1 28.5 23.1 19.5 22
25 8.5 35 75 25 31.0 25.6 22.0 18
932 8.5 35 75 25 355 30.1 255 15
940 10.5 55 9.5 45 39.5 34.1 295 12
CKD 709



Brake cylinder Small bore size, disassembly
Double acting/double acting with valve

JSM2/JSM2-V series

LCW
LCR )
% § @ Bore size: 20/930/p40
LCM JIS symbol @ Double acting
STM @ CAD
STG
STSISTL
_ STRZ | e
ucaz | Specifications
JSKIM2 .
JSG Bore size mm ®20 ®30 ©40 ®20 ®30 ©40
JSC3/sc4 | Actuation Double acting Double acting/with valve
_USSD | working fluid Compressed air
% Max. working pressure MPa 0.7 (=100 psi, 7 bar) | 0.6 (=87 psi, 6 bar)
JSB3 | Min. working pressure|Brake section 0.35 (=51 psi, 3.5 bar)
LMB MPa Cylinder 0.10 (=15 psi, 1 bar)
% Proof pressure MPa 1.05 (=150 psi, 10.5 bar)
" HCA | Ambient temperature °C -10 (14°F) to 60 (140°F) (no freezing) -10 (14°F) to 50 (122°F) (no freezing)
LBC . Brake section M5 | Rc1/8 M5 | Rc1/8
—~~, | Portsize -
CAC4 Cylinder Rc1/8
UCAC2 1.0 12
T CACN| Stroke tolerance mm o (to200) | o (to 1000)
UCAC-N | Working piston speed mm/s 50 to 500
RCC2 | Cushion None
ETCE Lubrication Not required (use turbine oil class 1 1ISO VG32 if necessary for lubrication)
~SHC | Stopping accuracy mm +1.0 (300 mm/s, no load)
MCP Holding force N 186 431 765 186 431 765
GLC Allowable absorbed energy J 0.024 0.05 0.093 0.024 0.05 0.093
__MFC_| Note: This product cannot absorb high energy generated by external load. We recommend attaching an
_ BBS | external shock absorber.
RRC
=~ Electrical specification for brake valve
—e] JSM2-V-VALVE-KIT-
HR Rated voltage (V) 100 AC(50/60 Hz) 200 AC(50/60 Hz) 24 DC
% Starting current (A) 0.056/0.044 0.034/0.026 0.075
., Holding current (A) 0.028/0.022 0.017/0.013 '
lecthdchyk | Power consumption (W) 1.8/1.4 2.1/1.6 1.8
ShkAbs | Voltage fluctuation range +10%
E‘}L Thermal class Class B molded coil
W *1 : 100/200 VAC coil is available for 110/220 VAC (60 Hz).
——— *2: Refer to “Pneumatic Valves (CB-23SA)” for details on valves (P5136 Series).
Ending
Stroke length
Standard stroke length (mm) Max. stroke length (mm) Min. stroke length (mm)
920
25/50/75/100/125/150
¢30 700 1
175/200/250/300
®40
@ For types with switch, minimum stroke length varies depending on mounting method. Refer to the following table.
The custom stroke length is available in 1 mm increments.
Min. stroke length with switch (T switch)
SwitchmodelNo.| 1 | 2 | 3 |
TO, T5, T2, T3 10 27 51
T2W, T3W 10 31 55
T2Y, T3Y, T1 10 25 49
T8 10 23 47
m CKD




JSMZ/JSMZ'V Series

Specifications
Switch specifications (T type switch) iLew
@ 1-color/2-color display LCR
Proximity 2-wire] Proximity 2-wire Proximity 3-wire Reed 2-wire ::837
TV | T2YH/ | T2W T3H/ |T3PHTIPV) T3YH/ [T3WH/ Mem
T1H/T1V TOH/TOV T5H/T5V T8H/T8V [LCM
- JHT2V T2WV| T3V | (estom) | T3YV | T3WV --_ STM
o For pr0$rammab|e Dedicated for For programmable For programmable | For programmable controller,]  For programmable STG
Applications| controller, relay, relay, IC circuit (no indicator roTeeT
compact solenoid valve| programmable controller controller, relay controller, relay | lamp), serial connction controller, relay | STSISTL
Output method - NPN 0utput| PNP 0utput|NPN output|NPN output - %
Pwr. supp. V. - 10 to 28 VDC - ULK*
Load voltage|85 to 265 VAC| 10 to 30 VDC |24 VDC 410% 30 VDC or less 12/24 VDC|100/110 VAC |5/12/24 VDC| 100/110 VAC|12/24 VDC | 110 VAC|220 VAC  IIET ATV
Load current| 5 to 100 mA 5to0 20 mA (*2) 100 mAorless | 50 mAorless |[5to50 mA|(7 to 20 mA[50mAorless|20mAorless|5 to 50 mA|7to 20 mA|7to 10mA | JSG
] Redlgreen|Red/green Yellow |Red/green |Red/green ] o JSC3NSC4
Indicator LED LED LED LED Without indicator LED USSD
. ‘ LED LED ‘ LED LED LED ) ) =20
lamp (Lit when ON)| (LitwhenON) | . ) (Litwhen ON) | . ) ) (Lit when ON) lamp (Lit when ON) UFCD
(Litwhen ON) | (Lit when ON) (Litwhen ON) |(Lit when ON) |(Lit when ON) usc
Leak <1mAat 100 VAC, 1eR2
eakage ma 1 mAorless 10 pAor less 0mA JSB3
current  |<2mAat 200 VAC LMB
1 m:33 1Tm:18 | 1m:33[1m:18 1m:18 1m:33 |1 m:18 1m:18 1 m:33 LML
Weight g| 3 m:87 3m:49 |3 m:87 |3 m49 3 m:49 3 m:87 | 3 m:49 3 m:49 3 m:87 HCM
5 m:142 5 m:80 |5 m:142| 5 m:80 5 m:80 5m:142| 5 m:80 5 m:80 5 m:142 HCA
*1 : Refer to Ending Page 1 for other switch specifications. ILBC
*2 : The above max. load current is 20 mA at 25°C. The current is lower than 20 mA if the operating ambient temperature around the switch is higher than 25°C. |CAC4
(5to 10 mA at 60°C) UCAC2
*3 : The TO/T5 switch can also be used with 220 VAC. Contact CKD about working conditions. CAC-N
*4 : Dimensions depend on switch model No. Refer to Ending Page 18 for details. UCAC-N
RCC2
RCS
- : [PCC_
Cylinder weight (Unit: kg) | SHC
Product weight when stroke length (S) = 0 mm N MCP
Switch rail A(cf;it;:al GLC
i i i + . MFC
Bore size AX|aLIBfoot FI:rAge Clgxls Tr:#:lr;lgn w:ia?:: weight| per S =10 [
(mm) (E:) (FA) (CA) | (TATB) 9 mm [
920 0.48 0.63 0.54 0.61 0.53 Referto the weight|  0-005 0.01 %
®30 0.94 1.20 1.09 1.15 1.04 in the switch 0.005 0.07 0.014 'NHS
40 1.57 1.83 1.72 1.79 0.73 specifications. 0.009 0.02 HR
. LN
Product weight when S=0mm......... 0.73 kg100 THand
Additional weight when S = 100 mm... 0.01X———=0.1k
(Example) JSM2-V-LB-20-100-2-TOH-D 9 10 9 (Chuk __
Weight of 2 switches ..................... (0.018 + 0.005) X 2 =0.046 kg | MectindChuk
Product weight 0.73 kg + 0.1 kg + 0.046 kg = 0.88 kg ijk&
Pk
SpdContr
. Endi
Theoretical thrust table (Unit: N) (Endng
Bore size |Operating Working pressure MPa
(mm) | direction| 01 | 045 | 02 | 03 ] 04 | 05 | o6 | 07 |
20 Push 314 471 62.8 94.2 1.26 X 10? 1.57 X 10? 1.88X10% 2.20%X10?
¢ Pull 23.6 35.3 47.1 70.7 94.2 1.18X 10> | 1.41X10° | 1.65%X10°
30 Push 70.7 1.06X10* | 1.41X10° | 2.12X10° | 2.83%X10° | 3.53X10* | 4.24X10> | 4.95X10°
M Pull 59.4 89.1 1.19X10? 1.78 X107 2.38%10? 2.97 X102 3.56 X 10? 4.16%10?
40 Push 1.26X10% 1.88X10° 2.51%X10° 3.77X10° 5.03%X10° 6.28X10° 7.54%10° 8.80%10°
¢ Pull 110X 10> | 1.65X10° | 2.21X10° | 3.31X10° | 4.41%x10> | 551X10° | 6.62X10° | 7.72X10?
CKD



JSMZ/JSMZ'V Series

[>)
=
o
&
=
o

g
g |2
o c >
EE
Code Content ] 8|z &
©® Mounting
00 |Basic [ J [ J
LB |Axial foot [ J [ J
FA |Rod side flange [ ] [ ]
CA |Eye bracket [ J [ J
TA |Rod side trunnion [ J [ J
TB |Head side trunnion [ J [ J
20 (@20 [ J [ J
30 |30 e | o
40 |40 [ ] [ J
Bore size Stroke length *2 Custom stroke length
920 1 to 700
®30 1to 700 In 1 mm increments
940 1to 700
1 |100 VAC(50/60 Hz) [ J
2 200 VAC(50/60 Hz) [ J
3 24 VDC [ J

@ Switch model No.

on the following page.

* Lead
Blank

wire length
1 m (standard)

Refer to the switch model No. table

3 3 m (option)

5 5 m (option)

© Switch quantity
1 on rod side

1 on head side

2

3

A|H|O|XT |

4 (when there are more than 4 switches, indicate switch quantity.)

@ Option

Max. ambient temperature : Instantaneous max. temp

~ Lew How to order
LCR
.cc | @Without valve
75;\(/' Without switch (built-in magnet for switch)
o (IsM2)-(1B)-(20)-(50)-(H)———P) D
755265 With switch (built-in magnet for switch)
TSISTL
e (JSM2)-(1LB)-(20)-(50)-(D-ToH-R-P)(D
UCA2
uk @With valve
M2 Without switch (built-in magnet for switch)
scascs (JSM2-V ""@ ®®
% With switch (built-in magnet for switch)
use (JSM2-V)-(LB)-(20)-(50)-(1)-ToH-R)-®)(D)
JSB3
LMB @ Bore size
LML © Mounting
HCM
HCA e Model No.
LBC "1
CAC4 @ Stroke length
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
LA Val It
e @ Valve voltage
MCP
GLC
MFC
BBS .
—RRC | @ Switch model No.
GRC
RV3*
NHS
HR
LN
Hand . .
~hue &N Precautions for model No. selection
lesthdCrLk | =9 Low hydraulic can also be supplied as custom order
ShkAbs product @ Switch quantity
FJ Model numbers are JSM2-H and JSM2-VH.
FK *2 : Refer to page 710 for the min. stroke length with
SpdContr switch.
- *3 : For a TA mounting, the brake section with cover (U)
m cannot be selected.
@ Option
*3
[Example of model No.]
JSM2-V-LB-20-50-1-TOH-R-PI
Model: Brake cylinder with valve
@ Model No. : With valve
©® Mounting : Axial foot
@ Bore size 1 @20 mm
@ Stroke length :50 mm @ Accessory
@ Valve voltage  : 100 VAC
GSwitch model No. : Reed TOH switch,
@ Switch quantity  : 1 on rod side
QOption : Same port position
@ Accessory : Rod eye
2 CKD

J Bellows 100°C 200°C [ J [ J
L Bellows 250°C 400°C [ J [ J
M  |Piston rod material (stainless steel) [ J [ J
P |Same port position [ J [ J
U |Brake section with cover [ J [ J
© Accessory

1 Rod eye [ J [ ]
Y |Rod clevis (pin, washer, split pin attached) [ J [ J
B2 |Clevis bracket (pin, snap ring attached) [ ] [ ]




JSMZ/JSMZ'V Series

How to order

[F] Switch model No. iLew
- LCR
T type switch _ <
Axial Radial | §|Voltage . Lead LCX
. i k= Display . P
lead wire | lead wire | S|AC|DC wire LCM
TOH* Tov: | _|e|e 1-color display ?rgi
* % O . . . .
T5H T5V e @® | ® | Without indicator lamp| 2-wire ISTSSTL
T8H* T8V* [ 2K J 1-color display STR2
T1H* T1V* [ J . UCA2
T2H* T2V* [ J 1-color display 2-wire ULK*
JSKIM2
T3H* T3V* [ ] 3-wire E
T3PH* T3PV* %‘ @ |1-color display (custom order)| 3-wire JSC31SC4
T2WH* T2WV*  ['% o . ‘ussb
<) 2-wire UFCD
T2YH* T2YV* | [ J ) ———
TaWH TaWV ° 2-color display usc
3-wire E - .
T3YH* T3YV* ([ LMB
T2JH* T2JV* [ ) Off-delay 2-wire LML
HCM
. HCA
How to order switch LBC
[T type switch] A
@ Switch body + mounting bracket set @ Switch body only @ Mounting bracket set CAC-N
(JsM2 )-(TOH )-(20 SW-(ToH) JSM2 )- T -20 a——
RCC2
RCS
) PCC
Bore size Switch model No. Bore size SHC
(Item © on the previous page) (Item ® on the previous page) (Iterr_1 © on the MCP
previous page) Gl
Switch model No. Mounting bracket 'MEC
(Item ® on the previous page) P =v-am—
BBS
RRC
GRC
RV3*
How to order brake valve NHS
HR
(JSK2-V)-( VALVE-KIT ) - N
Hand
Chuk
Code Content | MecHndChuk
@ Valve voltage 100 VAC(50/60 Hz) ShkAbs
2 200 VAC(50/60 Hz) ;
3 24 VDC SpdContr
Ending
How to order mounting bracket
Mounting bracket
Basic (00) *3 M1-0020 M1-00-30 M1-00-30
Axial foot (LB) M1-LB-20 M1-LB-30 M1-LB-30
Flange (FA) M1-FA-20 M1-FA-30 M1-FA-30
Eye bracket (CA) M1-CA-20 M1-CA-30 M1-CA-30
Trunnion (TA/TB) M1-TA-20 M1-TA-30 M1-TA-40
*1: As for mounting brackets, the axial foot and flange include mounting nuts and toothed washers, and the trunnion includes mounting nuts.
*2: For axial foot, 2 sets of the above “M1-LB-*" are required.
*3: Mounting nut, toothed washer only. Although 1 set is attached with the basic of the product (00), use this when needed.
CKD ms



JSMZ/JSMZ'V Series

Lcw  Material of mounting bracket
LCR
LCG Remarks
LCX
LCM LB Steel Zinc chromate
STM FA Steel Zinc chromate
__STG | TA/TB Steel Zinc chromate
STSISTL
~ STR2 | CA Steel Zinc chromate
UCA2 | Note: Mounting bracket will be shipped with the product.
ULK* However, if the product is supplied with bellows and the mounting bracket is LB, FA, or TA, it will be shipped assembled.
JSKIM2
JSG .
scuse | Internal structure and parts list
USSD
UFCD @ JSM2 (double acting/with switch)
uUsc @ JSM2-V (with valve and switch)
JSB3
LMB p
LML (1 (1)
HCM
HCA
LBC
CAC4 T :
UCAC2 LN\
CAC-N
UCAC-N
RCC2 o
RCS = )
PCC
SHC
MCP
~GLc | ®Note: JSM2 does not have No. 0.
—MFEC | ® Note: The switchless models
—————— do not have numbers € to €¥).
BBS 9d 4
RRC
GRC
RV3*
NHS
AR Parts list
LN
Hand Part name Part name Remarks
Chuk
MecHnd(Chuk 1 |Rod nut Steel Zinc chromate 17 |Brake shoe metal|Cast iron
i 2 i 920/930 stainless steel Industrial chrome platin 18 |Bush Dry bearing
FJ Piston rod ®40 carbon steel P 9 19 [Ring Steel
FK
7SpdContr 3 |Scraper Nitrile rubber 20 [Rod packing Nitrile rubber
m 4 |Brake body Cast iron Zinc chromate 21 |Fixed ring Steel Zinc chromate
5 |Brake piston Copper alloy casting 22 |Square flange Steel Zinc chromate
6 |Piston packing |Nitrile rubber 23 |Hex socket screw|Steel Black finish
7 |Lever Steel Zinc chromate 24 |Piston A Aluminum alloy
8 |Valve for brake release |--- P5136MO 25 [Magnet Plastic
9 |Cylinder gasket |Nitrile rubber 26 |Wear ring Acetal resin
10 |Rod cover Aluminum alloy 27 |Piston B Aluminum alloy
11 [Cylinder tube Aluminum alloy Alumite 28 |Hexagon nut Steel Zinc chromate
12 |Piston packing |Nitrile rubber 29 |[Spring washer |Steel Zinc chromate
13 |Head cover Aluminum alloy With switch
14 |Hex socket screw |Steel Black finish 30 |Switch body -—-
15 [Hex socket screw |Steel Black finish 31 |Band Stainless steel
16 |Brake spring Steel Black finish 32 |Pan head machine screw| Stainless steel
33 |Switch rail Stainless steel
Repair parts list
No./part name X
= Repair parts No.
¢30 JSM2-30K @ @
@40 JSM2-40K
m CKD



J S M2 'V Series

Double acting/with valve

Dimensions Y
LCR
@ Basic (00) with switch CAD X + stroke length LCG
A_ _WF LL + stroke length \ LCX
$ Y BA ‘ BB+ stroke length LCM
BU 50 _ BC_ BD 37 30.5 30.5_ 61 STM
Conduit 1 1 —_
Ii\ﬁ;" BE ‘ 0 0 STG
i M5 TR e
0 VO | g S STS/STL
= Y WD) 2Rl P1 STR2
z Y = P ] (STR2
Q o : 1 D UCA2
z 8 - JAA LS g oAz
A= ﬁa\\ ¥ [ b b -1 < (8. ULk
&/ w N = ﬂ DX 9 ] || ‘ R ® , JSKIM2
BN Hexagon B = N_MB Bl 8| |aC a GD N\.MB JSG
BL 5 <R>D S I—TI; JSC31USC4
BP XF XE + stroke length UsSsSD
A WF+ 2 i UFCD
. 920 (nipple part) Port nipple Rc1/8 usc
| (L JsB3
m © Q LMB
s oF of , o [®f]e =T || O LML
=2 *leol® HEE =zl HCM
. . e " J HCA
RD: Rod S'd_e max. senS|t|lv.|ty pOS't!‘?“ ’ With bell Note: The 20 mm bore size model of JSM2 includes a port nipple as shown above (for rod side only). LBC
HD: Head side max. sensitivity position [With bellows] If the port nipple is excluded, it has the same shape as that of $30 mm and @40 mm bore size cylinders. ——————
*1 : The size of the exhaust port of brake section is the same as that of EE. CAC4
*2 : Conduit on the valve terminal box for 30 and 40 mm is on the opposite side of that shown in the figure. UCAC2
*3 : For the dimensions of the accessories, refer to page 721. *4 : For the £ dimension, round up below the decimal point. CAC-N
m Basic (00) basic dimensions |UCAC-N
" RCC2
[Bore size (mm) \| A | B |BA|BB[BC| BD |BE(BG|BH|BL|BM [ BN [Bo| BP [BR[BS|BU| C [ D | EE [F| KK |LL ERees
®20 20 |13 | 58 | 66 | 9 30 |19 5 | 29|34 | 55 38 |19 | 38 29 4 |138|18 | 25 M5 |26| M8X1.0 | 124 PCC
®30 23 |17 | 67 [ 72 |95|385| 19| 6 [ 39| 42 | 66 45 | 22 (438 345 7 7 |20 | 35 | Rc1/8 |35 |M10X1.25| 139 | SHC
940 25|19 |74 (74| 8 48 (18| 8 [ 50 | 50 | 80.5| 55 [ 25 | 52 | 395 7 7 | 22 | 45 | Rc1/8 |46 | M12X1.5 | 148 |MCP

m With switch (10, 5, T2, T3 With switch (T2, T3w) With bellows o
(Bore size (mm) \| _MB _[MM| T | V ]WF| X | XE | XF/GC|GDIRD[HDlGC|GDIRDIHDI P [P1lPerfib | d ] 2 JESSs
10| 5 (14| 24 9 9 [13 |13 1M [ 11|15 (15 19 | 32 | 30

920 M18X 1.5 182|138 | 44 19.5( 21 (Stroke length/3) + 6 RRC
®30 M26X1.5| 12 | 6 | 16 | 23 |201|155| 46 | 12 |12 | 16 | 16 | 14 | 14 | 18 | 18 [24.5| 26 | 15 || 38 | 46 |(Strokelength/3.25)+7 | GRC
@40 M26X1.5| 14 | 7 | 16 | 23 |212|164| 48 || 13 | 13 | 17 | 17 [ 15 | 15 | 19 | 19 [|29.5| 31 | 12 | 40 | 46 |(Stroke length/3.25)+7 | RV3"
@ Axial foot (LB) LA + stroke length INHS
A WF LL + stroke length v ['57
C \A BA BB+ stroke length _
gl ! . Hand
BH T BC BD 37 30.5 30.5 6 ChT
Y0 Conduit EE_fS|BE 10 10 Chuk
=5 ‘ MecHnd/Chuk
— M5 v =
(BN ﬁtf VIO | g GB' + S 2.Re1/8 ShkAbs
z - FJ
& — x 1 1o e
- % - m o ) 2= = FK
@y {?{j“ Y < * ¢ L = SpdContr
\&:_—_}gj - hd N/ A4 — e =
I KK ZCH H = Ending
= I
/i EI Hexagon B ] BG| 8] |GG e GD| "= !
e R LLC 15 |RD HD| | LC
4-pLD ! LG,
LS @ LB LG + stroke length - LB
A WF+ 2
° \
¢
2 o ¢
! 4 @ [With bellows]
*1 : The size of the exhaust port of brake section is the same as that of EE. *3 : For the 2 dimension, round up below the decimal point.

*2 : For the dimensions of the accessories, refer to page 721.

Axial foot (LB) basic dimensions
[Bore size (mm) \| A | B | BA|BB|BC| BD [BE|BG|BH| BT | BN [BO[ BR [BS[BU| C | D] EE | F [FA[H| KK |LL]
20 |13 | 58 |66 | 9 30 (19| 5 [ 29| 63 38 |19 | 29 4 [ 38|18 | 25 M5 26 | 26 | 15

920 M8X1.0 | 124
¢30 23 |17 | 67 | 72 |95(385| 19| 6 | 39| 75 45 [ 22 |345 (| 7 7 | 20| 35 Rc1/8 35| 35 | 20 (M10X1.25] 139
@40 25119 |74 | 74| 8 48 |18 | 8 | 50 | 855 (555 |25 (395| 7 7 | 22|45 Rc1/8 46 | 35 | 20 [M12X1.5| 148

m Mounting di ns With switch (0, 75,72, 73| With switch (T2w, Taw) With bellows

Bore sz \[W 7 TV W 1 3 3 0
¢20 10| 5 |14 |24 (196(10 | 18 | 6 |160( 25 |30 (44 9 | 9 |13 |13 11| 11 [ 15| 15|19.5| 21 | 19 | 32 | 30 |(Stroke length/3) + 6
®30 12| 6 | 16 | 23 (220( 12 |23 | 7 |185(30 |46 (62 12|12 | 16 | 16 (| 14 | 14 | 18 | 18 |[24.5| 26 | 15 || 38 | 46 |(Stokelength/3.25)+7
@40 14| 7 |16 |23 (23112 |23 | 7 (19430 |46 |62 13|13 |17 (17| 15| 15| 19| 19 (29.5| 31 | 12 (Stroke length/3.25) + 7

CKD 715



J S M 2 'V Series

__Lcw_ ' Dimensions

LCR

LCG | @ Rod side flange (FA)

LCX
LCM
STM
STG
STS/STL

STR2
UCA2
ULK*
JSG
JSC3USC4

BN
BO

©

BT

1ol
~—.

&

tf

ol
[T

uUSSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4

FL 4-gFD Hexagon B

Conduit

KK

X + stroke length

WF LL + stroke length V

A
<§>
T

\A BA BB+ stroke length
BC BD 37 30.5 30.5 6| 1

EE BS BE 10 10

2 ||
M @] &F | 2-Rc1/8 P1

-
o

-
T
(Po)

/ ET BG| 8| |oC Q| GD \\MB

)

ll‘“
3
-/
£

-

LT

A

oMM 15 | RD

WF+2

FF FG + stroke length ==

|

¢od

111

e
e

©
A4

LT

[With bellows]
UCAC2 | *1 : The size of the exhaust port of brake section is the same as that of EE.  *3 : For the 2 dimension, round up below the decimal point.
CAC-N | *2 : For the dimensions of the accessories, refer to page 721.

UCAC-N m Rod side flange (FA) basic dimensions
RCC2 >

STl Bore size (mm) \| A | B [BA|BB| BC | BD [BE|BG| BT | BN [BO[ BR [BS|BU(C|D| EE |F| KK [LL]| MB (MM

~ pcc | ®20 20|13 |58 (66| 9 30 |19 5| 55 38 |19 29 | 4 [38|18|25 M5 26| M8X1.0 | 124 [ M18X1.5|10 IM18X1.5
SHC ®30 23|17 |67 (72]95|1385|19| 6 | 67 |455|22|345| 7 | 7 [20|35| Rc1/8 (35| M10X1.25| 139 | M26X1.5 | 12 |M26X1.5
MCP @40 25|19 |74 (74| 8 48 |18| 8 |77.5(555|125|395| 7 | 7 [22|45| Rc1/8 |46 | M12X1.5 | 148 | M26X1.5| 14 [M26X 1.5

__GLC | m Withsich (0,75 72, T3] With switch T2, T3W) With bellows
MFC .

Sl Bore size (mm) \|MM] T | V [WF) X [[FC|FD| FF [FG|FH|FL]FM| FT [lGc|GD|RD[HD|lGC|GD[RDIHD] P [P1]Perf b {d | 2 |

" RRC | ®20 10| 5 |14 |24 {182(20| 6 |20.8(141.2{ 34 |40 |54 (3.2 9| 9 [13 |13 11|11 [15|15(19.5] 21 | 19 || 32 | 30 |(Stroke length/3) + 6
GRC ®30 12| 6 (16|23 (201( 28| 7 |18.5(159.5(44 |64 |80 (4.5(12|12(16 |16 14|14 |18 | 18245 26 | 15 || 38 | 46 |(Stroke length/3.25)+7
RV3* @40 147 | 16|23 (212(28 | 7 |18.5(1685(44 |64 |80 (4.5( 13|13 |17 |17 (15| 15[19|1929.5| 31 | 12 || 40 | 46 |(Stroke length/3.25)+7

_NHS | @ Eye bracket (CA) CA + stroke length
HR A _WF LL + stroke length GE
LN c V BA BB+ stroke length CL CcM
Hand BU 50 T BC BD 37 30.5 30.5 6
Chuk Conduit fi“Bﬁ BE 10 10
MecHndChik | & T M5 i B

" ShkADs | "91— N7 @ 4O} | 2Ret/s ®CDi1o o P1
FJ Eéj S — o Vo J_/ | y o o
FK m o ~ u ] & ]

— Lzl (AN b b == Ja 00
SpdContr m| @ wy MISSM = | | = <) = L] Olt-
Ending| ¥ KK _WQ;)ED I 5 | cQ

MB S2
SE Hexagon B ¥ BG| 8 (439 S 99
l—— | MM 15 |[RD HD CB
BP MM, CJ + stroke length "~ ~—CC
A WF+ 2
b
|
Ty
X fh :
S 4 L1 hd
U

=

[With bellows]

*1 : The size of the exhaust port of brake section is the
same as that of EE.

*2 : For the dimensions of the accessories, refer to page 721.
*3 : For the £ dimension, round up below the decimal point.

Eye bracket (CA) basic dimensions

A |B|BAIBB|BC] BD]BE|BG|BLIBM|BN|BO|BP |BRIBS|BU] C]D| EE | F|GE| KK |LL| MB |
201358 |66 | 9 |30 (19| 5 (34|55 |38 19|38 |29 | 4 [38|18|25| M5 26 | 55

920 M8X1.0( 124 IM18X1.5
$30 23 (17|67 | 72 |95|385[ 19| 6 | 42| 66 | 45 | 22 [43.8|345| 7 7 |20|35| Rc1/8 | 35 | 62 |M10X1.25| 139 |M26 X 1.5
@40 25(19| 74 | 74| 8 | 48 [ 18 | 8 | 50 [80.5|55.5| 25 | 52 |39.5| 7 7 |22|45| Rc1/8 | 35 | 62 [M12X1.5( 148 [M26X1.5

m Mounting dimensions With swich 10,75, 72,73 With switch (T2, T3W) With bellows

R 7 7 ) o e )
®20 10| 5 |14 {24 (223|114 |10 |10 (193|31 (24| 8 |22 8 (| 9 | 9 |13 [13 11| 11 [ 15| 15(19.5] 21 [ 19 | 32| 30 |(Stroke/3) + 6
®30 12| 6 | 16|23 (24718 | 12|12 |212| 32|30 | 7 (26 (10| 12|12 |16 | 16| 14 [ 14 | 18 | 18 ||24.5| 26 | 15 || 38 | 46 |(Stroke/3.25) +7
@40 14| 7 |16 |23 (258|118 |12 |12 |221|32 30| 7 |26 (10|13 |13 |17 [17 15| 15|19 | 19(29.5| 31 [ 12 || 40 | 46 |(Stroke/3.25) +7

716 CKD



J S MZ 'V Series

Double acting/with valve

Dimensions [lew

LCR
@ Rod side trunnion (TA) LCG

X + stroke length LCX
A_ _WF LL + stroke length )\ lLcm
BL C \ BA - BB+ stroke length STM
BH T BC BD 37 30.5 30.5 6] 1 far~

BU | 50 ) STG
Conduit EF BS| BE 10‘ 10 el

M5 g STR2
ol YL ENETTC) | 2re1 -Pl. [ucA2
h¢

P |UCAZ
D / 2 ‘ ULK*

Q

a / § M JsKim2

I T

BN

BM
BO

x
m

o\ AL IR =
@) i o S =

KK

L)
2
INZINZS

JSG
JSC31SC4
BG8) |oc 3 ep| [NMB ussD
TE 15| RD L—IR UFCD
TF| TG + stroke length usc
A WF+8 JSB3
b LMB
LML
f HCM
1 HCA
LBC
[With bellows] CAC4
*1 : The size of the exhaust port of brake section is the same as that of EE.  *3 : For the 2 dimension, round up below the decimal point. UCAC2
*2 : For the dimensions of the accessories, refer to page 721. CAC-N

Bore size ) \[ A & [ 8A[ 5 8¢ | 8 [ € 86 | BL| B4 | 6N [0] R [B5[BU[ ¢ [ D] EE | 7 [Pl R JLL] wo JIRcca
20(13| 58 | 66 | 9 30 19| 5 12934 | 55 38 | 19| 29 4 (381825 M5 26 | 26

i

L, ™ Hexagon B
TN

- oMM

@TD

)
<9

T
|

@d

920 MBX1.0[124|M18X15 ="
930 23|17 |67 |72 |95[385[19 | 6 |39 |42 | 66 [455| 22 [345| 7 | 7 |20|35] Re1/8 | 35 | 35 [M10x1.25[130|M26X1.5 o0
@40 2519 74 74| 8 | 48 [ 18] 8 [ 50 | 50 [80.5(555] 25 [395| 7 | 7 [22]45]| Re1/8 | 46 | 35 [m12x1.5[148|mM26x1.5 [MicP
m Wihsich (10, 75 72,73 wth switeh T2, T2 GLC
[Bore size (mm) \[MM] T | V |WF| X ccJep[ro[Hp]cclenlrofHpl P [r1]rer b [a [ 2 JEESE
©20 10| 5 | 14|24 |182[ 45| 8 | 9 |19.5|u25[205] 8 |30 |46] 9 | 9 [13]13]11[1115|15] 195 |21 | 19 | 32|30 |(Srokelengh®)+6 -~
930 12| 6 | 1623 [201)55] 10 | 11 [17.5[1605 39 [ 12 | 40 | 64 [ 12] 12| 16 [ 16 |14 | 14 [ 18| 18] 245 | 26 | 15 | 3846 |(SroclnghB2s)+7 [ cRc
@40 14| 7 [ 16|23 [212] 5.5] 10 | 11 [17.5]16905| 44 | 05| 53 [ 72 [ 13 [ 13 | 17 [ 17 15[ 15 [ 19 [ 19 205 [ 31| 12 [ 40 46 |stokelengtiazs)+7 | RV 3*
i i NH
@ Head side trunnion (TB) X + stroke length INHS
A WF LL + stroke length v |HR
c v BA BB+ stroke length LN
T BC BD 37 30.5 305 6 |Hand
?U 50 Conduit EF BS BE 10 10 B ’Cjukr
— 1 MecHnd/Chuk
T M5 T || HA | Mecndbhuk
\ 5 M5 3 e ShkAbs
‘ o “NGE-HS) | 2-Rets P gl &,
pd / u \‘/r [m) FJ
s|@|o x R4 ~— =
2 |2 @ o u—f AN i gy AR . S\ S A
2T 7% K@§ —-i g z S : - H z Q:‘ \ \)N SpdContr
/ B N :
7/ KK " o) 5 ‘ ‘ = \K&j/ |Ending
[a) GD| [T
BH Hexagon B MB BG|_|8| [GC| S ‘I—TE TL| ™
BL oMM 15 [RD 8D e ™
BP TJ + stroke length TK
A WF+2
b
)
= b
S 1\ Il A4
U

[With bellows]

*1 : The size of the exhaust port of brake section is the same as that of EE.  *3 : For the £ dimension, round up below the decimal point.
*2 : For the dimensions of the accessories, refer to page 721.

Head side trunnion (TB) basic dimensions

Al B|BAIBB|BC| BD|BE|BG|BL|BM|BN|BO|BRIBS[BU[C D | EE [FAl KK [LL] MB_|MM]
20(13| 58 (66| 9 |30 (19| 5 |34 | 55|38 (19|29 | 4 (38|18 |25 M5 26

Bore size (mm) l

920 M8X1.0 | 124 [M18X1.5| 10
¢30 23|17 67 | 72 |95|385( 19| 6 |42 | 66 | 45 | 22 [345| 7 4 |20 | 35| Rc1/8 | 35 IM10X1.25[ 139 [M26X1.5| 12
@40 25|19 74 | 74| 8 | 48 | 18 | 8 | 50 [80.5|55.5| 25 [395| 7 7 | 22|45 | Rc1/8 | 35 | M12X 1.5 | 148 [M26X1.5| 14
_ Mounting i
v we] x |[7e [7o] Te [ 1] 7o T 7L Tw ] oclcp|RolHolGclcol RolHol P e b | a_
$20 14 | 24 |182(4.5| 8 | 9 [29.5(1525(/9.5| 8 [30 (46| 9 | 9 [13 [ 13| 11| 11 | 15| 15(19.5| 19 || 32 | 30 |(Stroke length/3) + 6
¢30 6 (16|23 (201(5.5| 10 | 11 | 39 |167.5(10.5| 12 | 40 [ 64 | 12 [ 12 | 16 | 16 | 14 | 14 | 18 | 18 [24.5 15 || 38 | 46 |(Stroke length/3.25)+7
@40 7 [ 16|23 (212|55( 10 | 11 | 44 |1765/10.5/9.5| 53 | 72 (| 13 [ 13 |17 |17 || 15| 15| 19 | 19 [29.5]| 12 (Stroke length/3.25) + 7

CKD 717



JSMZ/JSMZ'V Series

__Lcw | Dimensions
LCR

LCG | @ Without valve, basic (JSM2-00)
LCX
LCM
STM
STG X + stroke length
STS/STL WF LL + stroke length V
STR2 v BA BB+ stroke length
UCA2 BU BC BD 30.5 30.5 6 1
ULK* EF I‘3S BE 10 10

m ws| | 1T
JSG N 2-Rc1/8 P1
JSC31ISC4 4
USsSD
UFCD
usc [V
JSB3 BH Hexagon B
LMB BL 1
LML BP XF E + stroke length
HCM
HCA
LBC

_ CAC4 A_. WF+2
UCAC2 b
CAC-N |
UCAC-N
RCC2
RCS O
PCC Y
SHC [With bellows]
MCP
GLC
MFC | *1 : The mounting dimensions are the same as those of JSM2-V (with valve). Refer to pages 715 to 717.

BBS | *2: For the dimensions of the accessories, refer to page 721.
RRC *3 : For the 2 dimension, round up below the decimal point.

BRRER:..  (v)\| | 5 [5A[BB]Be] &b [BE[BG ]8R] 6] B | BN [ B0] &7 [Bs[BU] ¢ | B EE [ F] KK |LL]
:7';8 ® 20 | 13| 58 |66 | 9 30 19| 5 129 |34 | 55 38 25 38 4 [38) 18| 25 M5 26 M8X1.0 124
P

—|IO >

BM
BN
BO
|
|
|
|
|
|
)]
=
g
is

BH
A0
s
o

BL

()

i

1| ==

\.MB

oMM
“
@
[vs)
[0)
[o°]

I#g

@d
4

0

-

2
LN ¢30 23 |17 | 67 | 72 |95(|385(19( 6 (39 (42| 66 | 45 | 32 |438| 7 | 7 [ 20 (35| Rc1/8 | 35 | M10X1.25 39
Hand 40 25 (19|74 | 74| 8 | 48 (18| 8 |50 |50 |805(555(365| 52 | 7 | 7 | 22|45 | Rc1/8 | 46 | M12X15 | 148

Chuk With bellows
BT N o T T E e o o e E T e o o ) e
— 920 M18X15| 10 | 5 |14 | 24 [182[138| 44| 9 | 9 |13 [ 13| 11 |11 | 15| 15 [195| 19 | 32 | 30 |(Stroke length/3) + 6
TEK 930 M26X15| 12 | 6 |16 | 23 [201 155 | 46 | 12 | 12 | 16 | 16 | 14 | 14 [ 18 | 18 [245| 15 | 38 | 46 |(Stroke length/3.25)+ 7
~ SpdContr | 940 M26X15( 14 | 7 |16 | 23 212|164 | 48 | 13 |13 [ 17 |17 [ 15| 15 | 19| 19| 295 12 | 40 | 46 |(Stroke length/3.25)+ 7

Ending

718 CKD



J S MZ 'V Series

Double acting/with valve
Dimensions

@ Same port position (P)/basic (JSM2-00)
X + stroke length

WF LL + stroke length \A

% BA BB+ stroke length

BC BD 37 30.5 30.5 16| 1

BU 50 Conduit EF BS| BE 10 10 8

HIH r ﬁ* M5 | @ ) ‘

2-Rc1/8 P1
: x
o o - () 1 W[ 0 [y
75‘ 75 I @% : T Q; 77757 "
- o W\ \{
KK 17 H | | \

|| P
BG| 8| |oC g ) \MB
HD

|

RN

4

SaE

1T ==»\@

BN
i

=

BM
0]

2 d
24

MM
|
o
o%

BH Hexagon B

g

BP XF XE + stroke length
A WF+2

b
l -
o 2
S &

RD: Rod side max. sensitivity position [With bellows]
HD: Head side max. sensitivity position

T B 7 £ o e N B B T T U
20 13 58 76 9 30 19 5 4 18 25 M5 26 5

M8X1.0 | 134 | M18X1.5 | 10

B
4§

20
®30 23 17 67 82 | 95 |385| 19 20 35 Rc1/8 35 | M10X1.25 | 149 | M26X1.5 | 12 6

o
~

LCW
LCR
LCG
LCX
LCM
STM
STG
STS/STL
STR2
UCA2
ULK*
JSG
JSC3USC4
uUSSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
SHC

®.
@40 25 19 | 74 | 84 8 48 18 8 7 22 | 45 Rc1/8 46 | M12X15 | 168 | M26X1.5 | 14 7
®.

With bellows
‘m (oc]ep[ro[Ho]cTeolrolwol P TPifeor] o [a [ 2 |
20 14 24 | 192 | 138 | 44 9 9 13 (13| 11 1 15| 15 | 19.5| 21 19 32 30 | (Stroke length/3) + 6
®30 16 23 | 211 | 155 | 46 || 12 | 12 | 16 | 16 || 14 | 14 | 18 | 18 [ 245 | 26 15 38 46 (Stroke length/3.25) + 7
940 16 23 | 222 | 164 | 48 | 13 | 13 | 17 | 17 || 15 | 15 | 19 [ 19 [ 295 | 31 12 40 46 (Stroke length/3.25) + 7

@ Brake section with cover (U)/basic (JSM2-00) X + stroke length
A WF LL + stroke length \
C \ BA BB+ stroke length

|—— F

T AC 30.5 305 6] 1
50 ‘ 10 10

Conduit

[Te]

—

&
§

AG

o @) Frpr | £
o —

KK

Hexagon B a
B Rexagon b, VB BG| |8 QQ S

AF

MM

(@
&/
|

l QA®
A
iﬁ
I
nln
(Pg)
3
)
e

~.MB

@
[w)

i

15 |RD
XF XE + stroke length
A WF+ 2

T
O

1]
|

od

([

[With bellows]

Bore size (mm) \|_A_| AB | AC | AD | AF | AG| B | BA|BB|BG|BR] C | D |F| KK [LL|] MB_ |MM
20 47 39 13 58 66 5 29 18 25 26

i

¢20 585 | 19.5| 39 M8X1.0 124 | M18X1.5 10
®30 23 52 485|725 | 25 | 475 | 17 67 72 6 345 | 20 35 35 [ M10X1.25 | 139 | M26X1.5 12
@40 25 65 56 | 8575 | 28.75 | 57 19 74 74 8 395 | 22 45 46 M12X1.5 | 148 | M26X1.5 14

With bellows

©20 14 | 24 | 182 | 138 | 44
®30
@40

11 [ 15| 15 | 195 | 21 19 || 32 | 30 | (Stroke length/3) + 6
16 | 23 [ 201 | 155 | 46 | 12 | 12 | 16 | 16 | 14 | 14 | 18 | 18 || 245 | 26 | 15 | 38 | 46 | (Stroke length/3.25) + 7
16 | 23 | 212 | 164 | 48 | 13 | 13 | 17 | 17 | 15 [ 15 | 19 | 19 | 29.5 | 31 12 || 40 | 46 | (Stroke length/3.25) +7

Bore size (mm) - XF
5 9
6
7

MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HR
LN
Hand
Chuk
MecHnd/Chuk
ShkAbs
FJ

FK
SpdContr

Ending

CKD 719



JSMZ/JSMZ'V Series

~ Lew 1 JSM2 Series common dimensions (with T1, T8 switches, with 2-color display switch)

LCR

LCG | @ JSM2-**-**-T1H/V, T8H/V, T3 YH/V

LCX
LCM
STM
STG

STS/STL
STR2
UCA2
ULK*
JSG
JSC3USC4
uUSSD
UFCD
usc

JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
SHC
MCP
GLC

RV3*

920

30.5

HD

Switch installation dimensions

MFC Code
BBS
RRC

1-color display (T1, T8) 2-color display (T2/3 Y)

T1,T2/3Y,T2J T1,T2/3Y,T2J T2/3Y,T8,T2J

12 7 12 7 25 30 21

19

NHS

®30

15 10 15 10 30 35 26

15

HR

940

16 1 16 1 36 41 31

12

LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ

FK
SpdContr

Ending

720

CKD




JSKZ/JSMZ Series

Common accessory dimensions

JSK2/JSM2 Series common accessory dimensions (rod eye, bracket, pin) Lew
LCR
@ Rod eye (1) Material: Steel @ Rod clevis (Y) Material: Steel LCG
. . LCX
CDwno cas: Zinc chromate CDwo cw:es Zinc chromate o
treatment treatment [~
STM
N\ T N oF STG
D\ = N = ) F e
e <¢ A g -] | STSISTL
= = J STR2
Ay S HE IR UCA2
e éi I < ULK*
"' s JSKIM2
KK CH KK CH ‘ CL JSG
JSC31SC4
USSD
Model Applicable Model Applicable
o calcp|cH|ca MC i calcpfcH|cL|c M| P
bore size (mm bore size (mm) usc
M1-1-20 M8 X 1.0 M1-Y-20 M8X 1.0 JSB3
M1-1-30 | 25/30/32 | 14 | 36 | 12 | 25 | 10 [M10X1.25| 16 | 12 | 106 M1-Y-30 | 25/30/32 | 20 [ 36 | 12 | 25 [ 25 | 10 |M10X1.25| 16 | 12 | 197 %
M1-1-40 40 14 (36 | 12 | 25 | 10 |[M12X1.5| 16 | 12 | 100 M1-Y-40 40 20136 |12|25|25|10 |[M12X1.5| 16 | 12 | 193 "HCM
Material: Steel Note: A pin, a washer and a split pin are attached. HCA
@ Clevis bracket (B2) Zinc chromate @ Rod clevis pin (P) Material: Steel |ILBC
treatment . CAC4
Zinc chromate
50 30 UCAC2
A treatment CAC-N
5. 20 UCAC-N
7 CD 4.5 EL =
T 3.2 @CDs U RCC2
; ] RCS
o | B : - R - {f-3l% Pee
cD | ] J 9\ ' SHC
' 2-¢D MCP
| 8 20 4 —
<« D -8 2 | A GLC
MR R3.5 ! . i ‘ MFC
] ~| BBS
: 2 RRC
GRC
RV3*
Applicable Weight Applicable
Model No. |Compatibility| """, cD 9 Model No. | """ A colec| 7| x|y INHS
bore size (mm) (9) bore size (mm) HR
M1-B2-20-CC 20/25 8 8 145 M1-P-20 20 37 4 10 | 28 2 |105( 18 | 29 LN
M1-B2-30-CC JSK2-CC 32 10 11 163 M1-P-30 |25/30/32/40| 46 4 12 37 | 25| 13 21 50 %
R — u
M1-B2-40-CC 40 12 1" 170 Note: A pin, a washer and a split pin for rod clevis use are attached with the MecndChe
M1-B2-20-CA |  JSK2-CA 20 10 11 158 product. ShkAbs
M1-B2-30-CA | JSM2-CA 25/32/40 12 1" 162 FJ
M1-B2-20-TA | JSK2-TA/TB 20 8 8 132 FK
M1-B2-30-TA | JSM2-TA/TB 25/32/40 10 11 142 | SpdContr_
*1 : One pair is composed of two pieces with XY symmetry. @
*2 : The model No. above includes snap rings and pins. 2 pieces are included in a set.
(However, the pin and snap rings are not attached with the trunnion.)
*3 : For mounting TA, this cannot be attached to the brake section with cover (U).
@ Clevis bracket pin (P1) (P2) Material: Steel
Zinc chromate
A treatment
0.9 5 B 0.9"%
T ~fa
alo
2,8,
Compatible model Applicable
Model No. | " cD PP
" |and bore size (mm) snap ring
M1-P1-20 |JSK2-CC-20/25 E type 7
M1-P1-30 |JSK2-CC-32 33 28 10 9 E type 9 21
M1-P1-40 |JSK2-CC-40 37 32 12 9 E type 9 32
JSK2-CA-20
M1-P2-20 |yaN5coas0 25 |20 | 10 | 9 | Etype9 | 18
JSK2-CA-25/32/40
M1-P2-30 JSM2-CA-30/40 27 22 12 9 E type 9 24
Note: A pin and snap ring for bracket use are attached with the product.
(However, the pin and snap rings are not attached with the trunnion.)
CKD =



LCW

LCR

LCG
LCX
LCM

STM

STG
STSISTL

STR2

UCA2

ULK*

JSG

JSC3USC4
uUSSD

UFCD

usc

JSB3

LMB

LML

HCM
HCA
LBC
CAC4
UCAC2
CAC-N

UCAC-N

RCC2

RCS

PCC
SHC
MCP

GLC

MFC
BBS
RRC

GRC

RV3*
NHS

HR
LN

Hand

Chuk

MecHnd(Chuk
ShkAbs

FJ
FK

SpdContr

~_Ending | m Consider the stopping accuracy and overrun

Pneumatic components

Safety Precautions

Be sure to read this section before use.

Refer to Intro Page 73 for general information of the cylinder, and to Intro Page 80 for general

information of the cylinder switch.

| Product-specific cautions: Brake cylinder JSK2/JSM2 Series |

Design/selection

A WARNING

M Design a structure that prevents person(s) from
coming into contact with the driven workpiece as
well as the moving parts of the cylinder with brakes.
Provide a protective cover so that no human body directly
touches the unit. In case of possible contact, provide safety
measures such as a sensor for emergency stop before
making contact and a buzzer to warn of danger.

W Use a balanced circuit that accommodates the
protrusion of the piston rod.
If the cylinder is stopped part-way in the stroke with the
brake, etc., and air pressure is applied to one side of the
cylinder, the piston rod will pop out at high speeds when the
brake is released. This could cause physical harm, such as
pinched hands or feet, or mechanical damage. Use a
balance circuit, such as the recommended pneumatic
pressure circuit, to prevent popping out.

B The holding force is the ability to hold static load
that is not accompanied by vibration or shock, in a
state where the brake is operating under no load.

Take care when constantly using near the upper limit of the
holding force.

B Do not apply loads with impact, strong vibration, or
torque while brakes are activated.
If load is externally applied with impact, or if strong vibration
or rotational force is externally applied, the holding force can
be reduced, creating a dangerous situation.

distance during the braking.
Because a mechanical lock is applied, the cylinder does not
stop instantly when the stop signal is issued, but stops with
a time-wise delay. The stroke at which the cylinder slides
due to this delay is the overrun distance. The max. and min.
width of the overrun distance is the stopping accuracy.
To achieve the required stop position, move the limit
switch forward by the overrun distance.
The limit switch must have a detection length (dog length)
of the overrun distance + a.
The operating range of CKD cylinder switches is 7 to 16
mm, depending on the switch model. . If overrun distance
exceeds this, provide self-holding of the contact at the
switch load.

M In order to improve stopping accuracy, ensure that
the brake stops the cylinder as soon as possible
after receiving the stop signal.

Use a high response DC control electricity circuit or valve,
and set the valve as close to the cylinder as possible.

722 CKD

B The stopping accuracy is susceptible to fluctuations

in piston speed.

If the piston speed changes due to load fluctuations or by
some disturbance while the cylinder is moving, the stopping
position may vary sharply. Make sure that the piston speed
stays the same up to just before the stop position. As well,
since the speed changes significantly in the cushioned
range and in the acceleration range after starting operation,
the variability of the stopping position will increase.

B Basic circuit

Always adopt the following circuit even for position locking
and emergency stop applications. A 2-position valve cannot
be used because it affects the brake section even when the
cylinder thrust is stopped.
Maintain thrust and load balance with the following circuit.
Brakes may not be released when load is applied to brakes.
Horizontal load
When piping is as shown in Fig. 1, equal pressure is applied
to both ends of the piston when stopped to prevent the rod
from popping out when the brakes are released. Install a
regulator with check valve on the head side to maintain
thrust balance.

Fig.1

SOL-1 SOL-2

@ soL-1® SOL-2 Operational status

OFF OFF OFF Stop
ON OFF ON Reverse
OFF ON ON Forward




For downward vertical load
If load faces downward as shown in Fig. 2, the rod
malfunctions in the load direction when brakes are released.
Place a regulator with a check valve on the head side to
reduce thrust in the load direction and balance the load.

Fig.2

@ soL1®
OFF OFF OFF Stop
ON OFF ON Drop
OFF ON ON Rise

For upward vertical load
If load faces upward as shown in Fig. 3, the rod malfunctions
in the load direction when brakes are released. Place a
regulator with a check valve on the rod side to reduce thrust
in the load direction and balance the load.

Fig.3

i

@ soL-1 ® SOL-2

OFF OFF OFF Stop
ON OFF ON Drop
OFF ON ON Rise

A WARNING

H Drain

If the piping capacity is larger than the brake release cylinder
capacity, the compressed air in the cylinder will not be completely
exhausted when switching with the solenoid valve. This compressed
air will condense, form water drops, and cause drainage.

Drainage will cause lubricant to flow and cause lubrication faults,
temporarily block the passage, corrode the inside of the brakes,
cause faulty brake operation, obstruct the stopping accuracy,
and/or prevent application or release of the brakes, etc.

Calculate the working compressed air’s atmospheric dew point
from the scale factor A of the piping capacity with respect to the
cylinder capacity. Install a dryer and adjust the air quality so
that the value is kept below the following values and drainage
is not generated. This can also be done by adjusting the bore
size and length of the tube from the release port to the solenoid
valve to match the working compressed air’'s atmospheric dew
point so that the following conditions are satisfied.

J S K2/J S M2 Series

Product-specific cautions

Magnification A<1  : Atmospheric dew point -20°C or below | LCW
1 < Magnification A<2 : Atmospheric dew point -25°C or below | LCR
Magnification A= 2 : Atmospheric dew point -30°C or below | LCG
LCX
Calculation of scale factor A of the piping capacity with cm
respect to the cylinder capacity STM
V,: Piping volume (mm?®) STG
__ ViV, V,: Brake release cylinder volume (mm?®) STSISTL
V,(10P+1) V,: Brake release cylinder blank volume (mm® STR2
P : Working pressure (MPa) 3&?7*2
Vo(mm®) Vi(mm?®)
JSK2-20 JSG
JSM2-20 754 754 JSC3USCA
USSD
jgggg 1963 1865 [UFCD__
. usc
JSM2-30 JSB3
JSK2-40 LMB
JSM2-40 4021 3860 LML
HCM
Example)JSK2-20, Piping to the brake release port, Tube I.D.: HCA
@4 / length: 1.5m Operating pressure: 0.5MPa LBC
Piping volume V, = Cross-sectional area x length =4 x4 x m/ 4 x 1500 | CAC4
= 18,850 mm® UCAC2
18850+754 |CAC-N
A= =43 UCAC-N
754 X (10 X 0.5+1) ‘RCC2
Adjust the air quality so that the atmospheric dew point is ‘RCs
-30°C or below. Pcc
If adjustment is difficult, consider using a cylinder with valve | SHC
(JSK2-V, JSM2-V). MCP_
GLC
W Release brakes before cylinder operation. The MFC
brake may not be released when the cylinder is |BBS
operating at high speed [RRC___
' IGRC_
B If back pressure is applied to the locking |RVS"
. NHS
mechanism, the lock may be released. Use the MR
brake release solenoid valve as a single unit, or LN
use an individual exhaust manifold. gaL
huk
B Use a 3-position P/A/B connection (pressurization on | ledidCic
both sides) solenoid valve for the cylinder drive to i:kﬁ
prevent the piston from popping out when starting. -
B To maintain balance of the thrust, including the SpdContr__
Ending

load, the side with the larger thrust should have a
regulator with a check valve.

£\ CAUTION

W Notes for stopping accuracy
Stopping pitch and load factor
Stopping accuracy differs with stopping pitch and load factor.
The load factor below is recommended for achieving
specified stopping accuracy.

50 mm or less 20% of thrust

50 mm to 100 mm 40% of thrust

100 mm or more 60% of thrust

Selection of valve for brake
The stopping accuracy and overrun distance will change
according to the responsiveness of the brake valve. Refer to
the JSK2-V and JSM2-V brake valve electric specifications.
Connect the valve directly to the brake port to improve
stopping accuracy.

CKD 723



J S KZ/J S M2 Series

LCW
LCR
LCG
LCX
LCM
STM
STG
STS/STL
STR2
UCA2
ULK*
JSG
JSC31USC4
USSD
UFCD
usc
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCC2
RCS
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HR
LN
Hand
Chuk
MecHnd(Chuk
ShkAbs
FJ

FK
SpdContr

Ending

724 CKD j

When using a PLC (programmable controller)
If a PLC (programmable controller) is used as the electrical
control unit for the valve for brake, stopping accuracy drops
due to scan time (computing time). When using a PLC, do
not assemble the valve for brake into the PLC circuit.

M Do not make major changes in applied load when
stopped with brakes, or the stopping position may
change.

B For a TA mounting, the brake section with cover
and the clevis bracket cannot be selected together
since they may interfere with each other.

M Although the contact service life of the reed switch
varies depending on usage conditions, it will
generally last several million cycles. The contact
service life is reached sooner if the device is used
continuously or operated at a high frequency. In
this case, use a proximity switch with no contact.

Mounting, installation and adjustment

AWARNING

W Release brakes before coupling the load to the end
of the rod.
If coupled while brakes are applied, torque or load
exceeding holding force may be applied to the
piston rod and damage the brake mechanism.

M If the brake is released while air is applied to only
one side of the cylinder, the piston rod can pop out
at high speed, creating a dangerous situation.
When releasing the brake during adjustment or
other maintenance, always observe the following:

Check that no one is in the movable range of the load and that no
problems will arise if the load moves when brakes are released.
When releasing the brake, perform position locking or take other measures:
-Place the load to the bottom end

-Pressurize both sides

-Place a strut

to prevent the load from falling.

Confirm that air is not pressured on only one side of the
cylinder when releasing brakes.

B How to manually release the brake
When there is no pneumatic source/power supply
Brake release screw M5

As shown in the above figure, the brakes are released by
turning the lever screws on both sides two or three turns
past the point where they offer resistance.
Note (D The brake may go out if screwed in too far.

@ Always remove the screw during normal operation.

When manually operating the solenoid valve for the brake
(with pneumatic source)

Manual override
Push with a thin rod

As shown in the above figure, the brakes are released when
the manual override on the solenoid valve is pushed with a bar.
Note that a non-locking method is incorporated, so the
brakes will be applied when the manual device is released.

M Brakes are released manually or by pressurizing
the brake release port. When mounting the load,
the brake release operation may cause the load to
fall; make sure to check that the brake is
operational when the manual release operation is
set to default or when there is no air in the brake
release port.

B Do not apply torque to the rod when braking, as the
holding force will decrease, creating hazardous
conditions. Also, use this product in mechanisms in
which the rod does not rotate.

B Do not apply to the cylinder any force that exceeds
the brake holding force listed in the catalog.

W With the JSM2 Series, the brakes can be manually
released by screwing a hexagon socket head cap bolt
into the brake release female thread on the side or
top of the brakes. However, the brakes may be
damaged if the bolt is screwed in too far; use the bolts
attached with the product, or if using commercially
available bolts, use the appropriate screw insertion
depth for the release bolt shown in the table below.

No. of bolt rotations

¢20 8 to 9 rotations

®25
111012
930 rotations

®32

®40 14 to 15 rotations

@20 to 40

W [f there is any play, such as looseness, in the brake
signal dog, stopping accuracy is affected. Securely
fix to eliminate play, etc.

: Bolts M5 x 15 or over

W If the piston speed is fast, the detection dog must
be long enough to match relay response time. If
the dog is short, the stop signal is not output and
operation does not stop.



A\ CAUTION

W Adjust the air balance in the cylinder.
With brakes released, place a load on the cylinder and
balance the load by adjusting pneumatic pressure applied to
the cylinder rod side and head side. Malfunctions such as
piston popping out during brake release or abnormal brake
release can be prevented by accurately balancing the load.

W Adjust the installation position of the detector parts,
including the cylinder switch.
When braking, consider the overrun distance vis-a-vis the
desired stop position and adjust the installation positions for
detector parts, including the cylinder switch.

W Load fluctuations during the reciprocating stroke of
the cylinder can cause inconsistent piston speed,
leading to greater variation in the stop position.
Adjust the mounting of the load so as to prevent
any load fluctuations during the reciprocating stroke
of the cylinder, especially before the stop position.

Use/maintenance

A WARNING

W The brake section can be removed from the cylinder body.
Do not disassemble or inspect brakes, or a hazardous
situation may occur when brakes are used again.

W The required grease is applied to brakes. Avoid
applying extra grease and do not wipe grease off.

B The required grease is applied when brakes are
replaced, so there is no need to apply grease to rods.

B Always use the product with the dust cover on,
except for when performing manual release, in
order to prevent failure or malfunction.

A\ CAUTION

W Air supply pipes that are too narrow or too long can
reduce stopping accuracy.

B Frictional resistance increases and causes the piston speed
to change when the cylinder has been stopped for a long
time, such as when using first thing in the morning or
afternoon. This may impair stopping accuracy. Conduct
conditioning operations to obtain a stable stopping accuracy.

(2. Common (With T type switch))
4\ CAUTION

B \WWhen moving the switch position to the stroke
length direction
The 1-color display switch can be fine-tuned by +3 mm from
the default. If the adjusting range exceeds +3 mm, or when
fine-tuning the 2-color display switch, move the band position.

JSKZ/JSMZ Series

Product-specific cautions

W Since the speed changes significantly in the cushioned LCW
range and in the acceleration range after starting operation, tgzi
the variability of the stopping position will increase. For this |~
reason, the accuracy described in the specifications may | Lcwv
not be obtained when a step just after start of the operation 5™
has a short stroke length to the next point. %

STR2

W Load to piston rod UCA2
Operate the cylinder so that load applied to the piston rod is
always applied in the axial direction more strictly than with a 1SG
general-purpose air cylinder. Limit load movement using ISCHISCE
guides so play and torsion do not occur. UssSD

UFCD

W Maintaining the rod sliding parts usc
Protect the piston rod sliding surface from scratches and %
dents. Such scratches and dents can cause damage to ML
packings, resulting in leakage and/or brake failure. "HCM

HCA

W The terminal box is shipped facing inward (¢20: LBC
downward) when shipped to prevent damage. Set it to %
the orientation to be used when wiring the terminal box. cacn

UCAC-N
RCC2
RCS
Loosen the switch fixing screw, shift the switch alongthe [pcc
rail, then tighten at the specified position. ISHC
When using T2, T3, TO, or T5, use a flathead screwdriver | MCP
(clockwork screwdriver, precision screwdriver, etc.) witha | GLC
grip diameter of 5 to 6 mm, a 2.4 mm or smaller tip, anda | MFC
thickness of 0.3 mm or less to tighten the screws with a |BBS
tightening torque of 0.1 to 0.2 N-m. %
When using T*C, T1, T2J, T2Y, T3Y, or T8, tighten the ‘Rva*
screw with a tightening torque of 0.5 to 0.7 N-m. 'NHS
The switch bracket rail has a marking 4 mm from the rail |z
end. Use as a guide to the mounting position when LN
replacing the switch. Hand
Switch rail markings are set to the default switch max. Chuk
sensitivity position. MechndChuk
The max. sensitivity position will change when the switch | ShkAbs
is changed or when the band is moved. Adjust the FJ
position accordingly in this case. PR
| | | SpdContr
Marking i’ﬂ{Q)I a— =3 i M
= : ; !

B \When moving the switch position to the
circumferential direction

Loosen the band fixing screw, shift the switch rail in the
circumferential direction, then tighten at the specified position.
Tightening torque is 0.6 to 0.8N-m.

B Shifting the band position

Loosen the band fixing screw, shift the switch rail and band
along the cylinder tube, and tighten at the specified position.
Tightening torque is 0.6 to 0.8N-m.
Band fixing screw  Switch Switch rail Band Cylinder tube
CKD 725



726

CKD





